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COST ACCOUNTING

012, prepare:

wing information for August, 2

follo
Q.10. Fromthe et pmductlnn-

(@) Statement of equiv
(b) Statement of cost, and
(c) Process Il account. etion: Material 80%. Labour 60%

com :
Opening stock 600 units: T 1,05&55{)'?%!‘?% Ugfunits g 5.500. Transfer 10 process lli: 8,800

m proe i 155, production overheaq
W'Etmet?i{::ctsﬁgie-[rggsfn;g: in EI‘DCEES < 2,41(:. gﬁm’fﬂl::;?i::: 1?60%. Il:lbuur and Gveitioad
:né;;u' Units scrappe: Ly gfzgfen;psflcuhmetian: Materials 70%, Labour 60%

' its: its scr
i Eagh:s%!'fﬁ:rtenfukag 00 B oss in the process of 10% production. Units Scrapped
overheads :

realised at T 0.50 per unil.

- ' rheads < 1.00]
[Ans.: Cost per unit - Mal. (1) ¥0.50; Mal. (2) 0.25; Lab. Z0.75; Ove
Q.11. The following data are available in respe:_:t of process 1.

| ' 0 units at T 4,500
gpgréggn?géﬁlgﬁﬁﬁ o g‘loaterials 100%, Labour 60% and overneads
e

60%. _

Input of matE"aIS 9,100 UI‘II[S at 4 2?.300

Direct wages ; 8;32330

Production overhead p 1200 -

! d . ,

g:;?eicgpc%;pletinn . Materials 100%, Labour 70% and
Overheads 70%.

Closing work-in-progress © 1,000 units.

Degreg of cumpf)etic?n © Materials 100%, Labour 80% and
Overhead 80%,

Units transferred to next process 7,800 units

Normal process loss is 10% of total input (Opening stock plus units put in) and scrap value is
T 3 per unit. You are required to follow FIFO method and compute:
(a) Equivalent production, (b) Cost per equivalent unit for each element and cost of abnormal

loss, closing work-in-progress and units transferred to next process, and (c) To prepare
statement of apportionment of cost.

[Ans.: Cost per unit Material <3; Labour ¥ 1 and Overheads < 2].

Q.12. Following information is available regarding process A for the month of February, 2013:

Production Record :
Unit in process as on 1.2.2013

(All materials used, 25% complete for labour and overheads) 0%
New units introduced 16,000
Un!ts completed ~ 14'000
Units in process as on 28.2.2013 B'UUG
(all materials used and 33 1/3% complete for labour and overheads) |
Cost Records :
Work in process as on 1.2.2013
Materials ¢
Labour Sy
Overheads 1 'ggg
Cost during the month a
Materials
Labour pr
Overheads ::'ggg

55,600
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Q.13.

Q.14.

Q.15.

Presuming that avera |
: ge method of inventory is use re:
(i) E;atement of Equivalent production y d, prepare :
ns.: -

Material 20,000 units: Labour &
i : : Ov
() Statement showing cost of each element. Moty 180 nets

(Ans.: Material ¥1.58; Labour & O '
.58; verhead

{m} Statement of apportionment of cost Enddiadtan
(iv) Process A Account. '

In a textile factory production of cloth passes through three processes — Spinning, Weaving

and Printing. Opening Work-in-Process at inti | |

-in- the Printing Process is 2,000 metre of partly printed
clpth valued at ¥ 50,000. Opening WIP is complete as follows :
Direct dyes and chemicals: 80% consumed,;

Direct Labour : 60% work done; and
Factory overheads 30% cost incurred.

During the month 24,000 metre of plain cloth was freshly introduced into the Printing Process

atacostof T 2,33,0@0. Normal loss is 5% of the units processed during the month excluding
WIP at the end. Spoiled cloth realises T 3 per metre.

During the month 1,500 metre of cloth was destroyed due to fire when 60% of dyes and
chemicals, 40% of labour cost and 20% of overhead cost had actually been incurred.

A total of 17,500 metre of printed cloth was produced at the process during the month.
Following were the costs incurred

Direct dyes and chemicals < 1,68,000
Direct Labour < 1,04,000
Factory overheads at the process T 56,100

Partly printed cloth at the end of the month was 6,000 metres upon which 70% of dyes and

" chemicals cost. 65% of labour cost, and 25% of overhead cost had been incurred. Stocks are

valued on FIFO basis.
You are required to prepare the following :

(i) Statement of Equivalent Production (ji) Statement of cost per unit, (i) Statement of
Apportionment of cost, (iv) Printing Process A/c. (v) Normal Loss Alc. and Abnormal Loss A/c.

[Ans.: Cost per unit = ¥ 10 (Plain cloth), 78 (Dyes & Chemicals), T5 (Labour and T3
(overheads).

Two products P and Q are obtained in a crude form and require further processing at a
cost of Z 5 for P and ¥ 4 for Q per unit before sale. Assuming a net margin of 25 per cent
on cost, their sale prices are fixed at T 13.75 and ¥ B.75 per unit respectively. During the
period, the joint cost was X 88,000 and output were :

P 8,000 units
Q 6,000 units. _ |
Ascertain the joint cost per unit. [Ans.: P (T8 per unit) and Q (T4 per unit)

SUNMOON Ltd. produces 2,00,000; 30,000; 25,000; 20,000 and 75.000 units of its five
products A, B, C, Dand E respectively in a manufacturing process and sells them at 317,
Z13, %8 %10 and X 14 per unit. Except product D remaining products can be further
processed and then can be sold at T 25, ¥ 17, ¥ 12 and ¥ 20 per unitin case of A, B, C
ectively.

la%i;iEn::feF:'ial 1r:.:::1+5}the 35.90,000 and other manufacturing expenses cost X 5,47,000 in the
manufacturing process which are absorbed on the products on the basis of their nef
realisable value. The further processing cost of A, B, C and E are T 12,50,000;
Z 1,50,000; T 50,000 andX 1.50,000 respeclively.

' ing | f the coming year:
ired to prepare the following In respect 0 . |
El’ar:;u gtr:t;’lq;nt shwp.:ing income forecast of the company assuming that none of its

products are to be further processed. [Ans.: Profit €11,03,000]

(b) Statement showing income forecast of the company assuming that products A, B, C
and E are to be processed further. [Ans.: £17,73,000]
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Can you suggest any other production plan income forecast arising out of adoption ¢

' ent showing incor t split off point]
prnﬁtsl. . T‘if}lsu"?&; ibrgtai;tz‘tz?er further processing and B and D at sp ]
that plan. s '

‘A’ and ‘B’ also emergg
: ‘P', by product ‘A" an .
of the main product P cts are processe
218 fl[:hthg %?ifsei’;::grﬁg:;?acture amount to T 1,19,550. All the produ P d
e joi

further after separation and sold as per details given below :

Main Product By P mduch .

P9 Q 0,000

Sales 90,000 80000 e
Cost beyond split off stage 25220 26% 15%

f sales
i l'El,:»"?allpiﬁng:Elnntgt-:l:dmministr*atjr.un overheads are absorbed as percentage of cost of

sales. Prepare a statement showing the_appartianr‘ngnt of jnTt cost to the main
product and by-product. Also prepare main product ‘P’ account.

[Ans.: (1) Share in joint cost
P

= I54,750
A = ¢38200
B = < 26,600
(2) Profit on main product P = ¥22,500.]

Q.17. A factory is engaged in the production of chemical Bomex and in the course of its
manufacture, a by-product Brucil is produced, which after further processing has a
commercial value. For the month of April, following are the summarised cost data :

Separate Expenses

Joint Bomex Brucial
Expenses
” Materials < 1,00,000 < 6,000 X 4,000
Labour 50,000 20,000 18,000
Overheads 30,000 10,000 6,000
Selling price per unit 98 34
Estimated profit Per unit on sale of Brucil 4

No. of Units produced

The factory uses reverse cost method of accounting for déte
total joint cost.

You are required to prepare statements showing :
() The joint cost allocable to Bomex. [Ans.: \"f,48,000}

(ii) The product-wise and over all profitability of the factory for April,
[Ans.: Bomex = $12,000; Brycjl = ¥ 8,000].

2,000 units 2,000 units
rmining the share of Brucil in

. int. Products M, N ang A
further refined into ‘Super M', “Super N ; Y Nand P cap pe Individually
(October, 1999), the Output at split—of?point wE:ansd: Super P in e most recent month

P

Product | 3.00,000 gallons
Product O 100,000 gallons
Product p 50,000 gallons

—_—
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| Further Processing Costs to Sales
Super M' make Super Products
Super ‘N' < 80,00,000 ¥ 1,20,000
‘Super P < 32,00,000 T 40,000

< 36,00,000 < 48,000
ducts M, N and P at the split-off point. This

Sunshine had th

e opti :
alternative would Plion of selling pro

have yielded the followi

Product M ng sales for the October, 1999 production :
Product N < 20,00,000
Product P < 12,00,000

< 28,00,000
You are required to answer

() How the joint cot of 2
40.,00,000
each of the following would be allocated between each product under

. methods : (a) Sales value at split-off, (b) physical output
(gallons); and (C) estimated net realisable value ? P

() Could Sunshine haye increased its October, 1999 operating profits by making

d}fferent decisions about the further refining of products M, B, or P ? Show the effect
Of any change you recommend on operating profits.

[Ans.: () Apportionment of Joint Cost

Product (a) (b) (c)

10,00,000 24,00,000 20,00,000
6,00,000 8,00,000 4,00,000

10,00,000 4,00,000 10,00,000

14,00.000 4,00,000 6.00,000
40,00,000 40.00.000 40,00,000

(iif) If products N and P are sold without further processing, the operating profit of the
company gets increased by < 20,000.]

vOoZ=

Three joint products are produced by passing chemicals through two cunsecqtiye
processes. Output from Process | is transferred to process |l from which the three joint
products are produced and immediately sold. The data regarding the processes are given

below :

Process | Process I

Direct Material 2,500 kilos atX 4 per kilo T 10,000 _
Direct Labour 6,250 < 6,900
Overheads < 4,500 4 E.BD{_}
Normal Loss 10% of input Nil
Scrap Value of Loss ¥2perkio —
2.300 kilos  Joint products

Output A ;900 kilos
B : 800 kilos

C : 600 kilos

Th re no opening Of closing stock in either process and the selling prices of the
ere we

output from Process || were :

T 24 perkilo
Joint Product A Z 18 per kilo
Joint Product B Z 12 per kilo
Joint Product C
Required: .nt for Process | together with any Loss or Gain Account you

(@) Prepare an 2o o record the month’s activities.

consider n;':e;?:f;r attributable to each of the Joint Products by apportioning the total
(b) Calculate the

costs from Pruqess IN:
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[Ans.: (@) Cost perunit = <9,

Amount transferred to P& | Alc. = ¢ 350.

Profit
Przduct 8 100 4, 350
: o0 2
1,800 LY
¢ 3.700 8,700

ing i ‘ th of
). The following information for tr]e mon
costing books of a manufacturing company

rtained from the
ust 2000 has been asce
Aligliating to a product which passes through

two process X and Y Process X | Process Y
< 16,000 < 6,000
Material used 24,000 16,000
Direct labour 3,344 2,780
Works expenses 4,000 -
Input at T 8 per unit (units) 3.900 3,850
Output (units) 400 600
Stock on August 1 {unit) 300 800
Stock on August 31 (units) 719 226
Valuation of opening stock 20/ 59
Normal wastage on input , 71 T4
Scrap value of wastage per unit

Closing stocks are to be valued at current cost. Prepare Process Accounts for the month.
(Ans. Cost per unit at Process x ¥19.20 and at Process Y ¥ 26.50).

u/m a manufacturing unit, raw materials passes through four Process I, ll, lll and IV and the

output of each process is the input of the subsequent processes. The loss in the four

2 .
processes |, Il, Il and IV are respectively 25%, 20%, 20% and 16 5 % of the input. If the

end product at the end of Process IV is 40,000 kg what is the quantity of raw material
required to be fed at the beginning of Process | and the cost of same at Z 50 per kg.

(Ans. 1,00,000 kgs. and ¥ 125)

22 In an oil refinery, the product

Refining and Finishing. The

passes through three different process, viz. Crushing,
following information is available for the month of January:

Crushing Process Refining Process Finishing Process
Raw Material (500 tons < 9,00,000 - -
Copra)
Wages 32,000 23,600 23,500
Power 4,800 4,000 6,000
Sundry Materials 2,000 7.600 -
Factory Expenses 2,400 4.000 3.800

Cost of drums for storing finished oi was ¥ 84,100. 200 tons of

of crude oil was obtaine
Crushing Process fetched ¥ 3.600. B

(20 tons) and 250 tons of refining oil
drums and 10 tons were sold

< 60,000 and 275 tons

oil cake was sold for
d. Sundry by-product
y-product after refining the

was obtained. 240 tons of f

(25 tons) of the

_nil was sold for ¥ 3,600
Inished oil was storec! in
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Q.23

Q.24

Q.25

In a concern enga

< 2,563,500. The details

ged in process ind
Process of operation. The totgl cost ustry

of

four products emerge form a particular.
of input for the period ended 30" September is
output, additional cost after “split-off point” and sales value of

the product are appended below:
Products Output | Additional processing | Sales value
A cost after split-off point
A Kgs. 8,000 360,000 | ¥1,68,000
5,000 10,000 1,10,000
C 3,000 - 60,000
D 4,000 20,000 90,000

If the products are sold at

would have been:

AT 1,15,000; B ¥ 90,000

“the split-off point"

C X 55,000; D ¥ 80,000.

without further processing, the sales value

You are required to prepare a statement of profitability based on the products being sold:
(i) After further processing (ii) At the split-off point. [Ans. (i) Z 86,500; (ii) ¥ 84,500]

Tee Pee Ltd. in the course of refining crude oil obtains four joint products: A, B, C, and D. The
total cost till the split-off point was T 97,600. The output and sales during the year were:

Product Output (Gallons) Sales () Separate costs (<)
A 5,00,000 1,15,000 30,000
B 10,000 10,000 6.000
C 5,000 4,000 -
D 9,000 30,000 1,000

You are required to :

() Calculate the net income for each of the products if the joint costs are appointed on
the basis of sales value of different products. [Ans. Total Proit ¥ 24,400]

(i) What would be the net income of the company from each product if it decides to sell
the products at split-off point itself A @ 15 paise; B @ 50 paise; C @ 80 paise and D
@ T 3 per gallon? [Ans. Total Profit ¥ 13,400]

(iii) In case the company expects to operate at the same level of production and sales in
the next year, could the company increase the net income by altering its processing
decisions? If so, what would be the expected overall net income? Which products
should be processed further and which should be sold at split-off? Assume that all
costs incurred after the split-off are variable. [Ans. Total Profit ¥ 25,400]

A work order passes through two distinct processes. The product of the first process less
wastages and by product becomes the raw materials for the second process. All by-
products are sold off direct from the factory. The following information is obtained from

the factory records:-

Give the ledge
and the profit on the sale

Ist Process lind Process
Raw Material 2000 tons at X 30 per ton —~ -
Wages ¥ 50,000 < 40,000
Factory overhead 80% of wages 75% of wages
Wastage 20 tons 30 tons
Sale of by-product 380 tons at cost plus 20% 170 lons al cost plus 25%

of by products.

r accounts for two processes showing at each stage the cost of the product
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Q.26 The cost of 100 litres of crude oil and processing it into diﬁerer}[t p;céd;.::ti I: r:e:?.rﬂ 'in XYz
Oil Refinery Ltd. The standard yields per 100 litres of crucLe utt a alue pey
litre are indicated below. Compute the unit cost of each proauct.

Standard yield per Market vajye
100 litres of crude oil per litre ¥

Petrol 32.0 ;gg o
Lubricating oil 533 .50
Fuel oil B‘U ..?5
Kerosene 3.0 s
Gas oil . ,DU
Loss 2.0 : a

Q.27 A by-product ‘Beta’ is derived in the course of manufacturing a product Alpha. The by-product
is further processed for sale. From the following data available from the fecurtr:is prepare an
account showing the cost per kg. of the product ‘Alpha’ and the by-product ‘Beta’.

Joint Expenses ¥ Separate Expenses

‘Alpha’ ¥ ‘Beta’ ¥
Materials 10,000 6,000 500
Labour 7,000 5,000 2,000
Overheads 2,500 1,500 600

The quantities produced during the period under consideration were : Alpha, 100 kg. and Beta
50 kg. The selling price of Beta was % 120 per kg. on which the profit earned was at 30%.

Q.28  In the course of manufacture of the main product ‘P’ by-products ‘A’ and 'B’ also emerge.

The joint expenses of manufacture amount to ¥ 1,19.550. All the three products are
processed further after separation and sold as per details given:

Main Product By-Products
o A B
Sales < 90,000 < 60,000 < 40,000
Costs incurred after separation < 6,000 < 5,000 < 4,000
Profit as percentage on Sales% 25 20 15

Total fixed selling expenses are 10% of total cost of sales which are apportioned to the
three products in the ratio of 20 : 40 : 40.

() Prepare a statement showing the apportionment
and the two-by-products.

(ii) If the by-product ‘A’ is not subjected to further
separation, for which there is a market, at ¥

expenses, would you advise its disposal at this

of joint costs to the main product

Processing and is sold at the point of
58,500 without incurring any selling
stage? Show the workings.

Q.29 A factory manufactures a commodity which passes
The finished product of Process A becomes the
finished product of B forms the raw materials of
product. The by-products of Process A and B are so

through three processes A, B and C.

Process C which deliveries the end

Id direct from the factory.

' AT B? c?

Materials 1,000 tons 700 600
@< 12 per ton
Wages < 10,000 20,000 36,000
Factory overhead
(Percentage on wages) 75% 0 0%
Wastage (of no sale value) 2 tons 36&‘:5 25tun5
Sale proceeds of by-products 8 tons 5 tons
@325 perton @3 20 per ton

Draw up Process Accounts,
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(i) If the products | .
(i) If they are sold at the split off point.

T3 | CAR. K. MEHTA

The fullnwing data ar :
) € avajl i
Opening wgrkhin_pmgreﬁ 1able in 'éspect of Process | for the month of October, 2004:

Degree of Completion; 2,250 Units at ¥ 11,250

Materials

Labour 100%

Overheads 60%
Input of materig 60%
Direct wages > 22,750 Units at X 88,500
Production Overheads ;i?ggg
Units scrapped |
Degree of Completion 3,000 Units

Material

Labour 123::

Production overheads

cloe. | 70%
0sing Work-in-progress: 2,500 Units
Degree of Completion: |
Material 100%
Labour 80%
Production overheads 80%
Units transferred to the next process : 19,500 Units

Normal process loss is 10% of total Input (opening stock plus units put in). Scrap value is
% 3.00 per unit. The company follows FIFQO method of Inventory valuation:

You are required to
(i) Prepare statement of equivalent production

(ii) Prepare statement of cost per equivalent unit for each element and cost of abnormal
loss, closing work-in-progress and units transferred to next process’ and

(i) Prepare process | account.

In an Qil Mill four products emerge from a refining process. The joint cost of input during
the quarter ending March 2005 is X 1,48,000. The output, sales and additional processing

cosls are as under:

Output in Litres Additional processing Sales value
IR0 ¢ cost after split off
8,000 43,000 1,72,500
ggig 4,000 9,000 15,000
COXE 2,000 - 6,000
DOXE 4,000 1,500 45,000

I these products were disposed off at the split off point that is before further
n case

‘ lling price would have been:
processing, the selling p_BOXE oxe .
AOXE

Ao 6.00 3.00 7.50

rofitability based on. | |
Ky stmemE”::]trsfsr.l:::llr:l after further processing is carried out in the mill.
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Q.32 From the following

mation for the month endin
~ First-out (FIFO) method to value e

g October, 2005 prepare Process Cqg

quivalent production,

——

ancuunts-f;irucess lll. Use 2 000 units at % 25,750
Opening its at< 4,11,500
Transfer from Process I j;ggg ur
Transferred to Process IV 5 0 00 units
Closing stock of Process |l 000 units
Units scrapped § ?g? 600
Direct material added on Process |l - ? BrUU —
Direct wages " 28' 800
Production Overheads ' —_—

The degree of completion is .

The normal loss in the process was 5% of production and scrap and sold at T 3 per unit

Q.33.

Opening WIP Closing WIP Scrap
Material 80% 70% 100%
Labour 60% 50% 80%
Overheads 60% 50% 60%

A company manufatures a variety of liquids which pass through a number_ of processes.
One of these products P, passes through processes 1, 2 and 3 before being transferreq

to the finished goods warehouse.
The following process 3 data is available for October -

<
Work-in-progress at 1 October is 6,000 units valued as
Transfer from Process 2 14,400
Materials added 2,160
Wages and overheads 2,880
19.440

Transfer from Process 2 during October :
48,000 units 1,10,400
Transferred to finished goods : 46,500 units
Costs incurred :
Material added
Wages and overhead £4:350

54,720

Work-in-process at 31™ October : 4000 units
Deree of completion
Materials added : 50%

Wages and overhead : 30%

Direct materials added

80%
Wages and overheads 60‘}:
Requirements -
From

the s gi
details given above, Prépare account for the month of October for Process 3
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Solut .
lons to Revisionary Problems
Answer to Q. No. 1:
Unit Process | Account
Unit Introduced 500 . T Units <
Material 2,000 By Normal Loss 50 100
Direct Wages 2600 By Transferred to
Production overhead g%-’ﬁng Process Il A/c 450 9,000
500 9.100 500  9.100
Cost per unit = 9100-100 — 9,000 =220
00-50 450
Process Il Account
Transfer from P Units L4 Units L4
Mratns'el om Frocess | Alc 450 9,000 By Normal Loss 90 360
alone 2,000 Abnormal Loss (@ 50 %) 20 1,000
Wages 3,680 By Transferred to
Production overhead . 3.680 Process Ill Alc 340 17,000
450  1B,360 450 18,36
Cost perunit = 18,260-360 .50 P A t
450-90 O rocess lll Accoun
To Transfer from By Normal Loss BS 425
Process Il A/c 340 17.000 By Transfer to finished
Material 1,025 goods Alc 270 21,600
Wages 1.400
Production overhead 1,400
Abnormal Gain 15 ~1,200 o
355 22,025 355 22,025
Cost " 20825—-425 20400 _ -
ost per unit = = =
P 340-85 255
Abnormal Loss Account
v : By Sale of @4 g;lts Btﬂ
20 1,000 y Sale of scrap
To Process Il A/c -~ By P&L Alc e 920
20  1.000 20 1000
Abnormal Gain Alc — .
Units ¥ n
75 By Process Il Alc 15 1200
15 y
To Normal loss @ X 9 1125 _
ocess | Account
Answer to Q. No.2. Tnits .{Pr Units <
__ 2000 | 20,000 | By Normal loss 80 1,080
To Units issued 40,000 | (2%) (@ 13.50)
To Materials 75500 | By Abnormal loss 20| 520
To Direct wages 50500 | By Process | stock 3,900 | 1,01,
To Direct expenses ' 500 17703000
4,000 | 1 103,000 '

7 1,03,000-3 1089 _= 26
Cost perunil = 4.000units =80 units
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Process | Stock Account
Units L4 A Units X
To Balance b/d 600 14,700 By Process c
To Process | Alc 3900 1,01,400 (@ X 25.80) 4.200 1,03,200
By Balance c/d 4_0_‘1 12,900
Weighted average cost per unit =
0
Total Cost _ 11610 - 7 25 80
Total number of units 4500 units
Process |l Account Units .
Units L4
To Process | Stock Alc 4,000 1,03.200 By Nnrmabwag%qlesu 200 3,250
Martial 7.500 By Stock A/C -
Wages 10,000 3 per unit 3,850 1,21,275
Expenses 2,250
Abnormal Gain
(@< 31.50) 50 1,575
4,050 1.24.525 4050 1.2452
1,22,950 - 3250 1,19,700
Cost per unit = 0 = =3 31.50
4000 - 200 3800
Process Il Stock Account
To Balance b/d 550 17,050 By Process lll A/lc
To Process Il A/c 3,850 1,21,275 @<T 31.4375%" 3,600 1,113,175
By Balance c/d 800 25.150
4400 1.38.325 4400 138325
Weighted average cost = 19690
4400 units
= 31.4375 per units
Process lll Account
To F’n_:u:ess Il Stock 3600 1,113,175 By Normal Wastage 360 7,560
Material 9,000 By Abnormal wastage
Wages 10,000 @ < 38 40 1,520
Exp. 2,505 By stock Alc 3,200 1,21,600
3.600 1.30,680 3,600 1.30,680
. 1,30,680-7,560 1,23,120
Cost per unit = = =X 38
3600 - 360 unit 3,240
- s Process Il Stock Account
alance 800 29,600 By Cost of Sales A/
Process Ill A/c 3200 121600 : 4000 151,200
4,000 1.51,200 4000 124900
Weighted average cost per unit 4000 1512
1,51,200
— =3 37.80
4,000 unit
y Normal Wastage Account
nit 4 .
To Process | Alc 80 1,080 Unit 4
To Process Il Alc 200 3,250 E; e ! 80 1,080
' 50 2437.50
To Process il Alc 360 7,560 gy EESI‘I Alc 360 7560
— —_— normal Gai
640 1189 y al Gain AJc _50 812.50

640 11,890
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Abnormal Wastage Account
Pmc&s: :‘P::c 20 520 By Cash A/c | 20 270
Proces 40 1,520 By Cash A/c IlI 40 840
_— —_— Costing P/L Alc — —930
60 2,040 60 2040
Abnormal Gain Account
To Normal wastage
(shortfall in sale) 50 812.50 o Fipem Lok » o
To P/L Alc - 762.50
50 1575 50 1575
Answer to Q. No. 3 :

Process input = (850 + 50) x 100/90 = 1.000 units
[(4 x1,000) + 500 + 200 + 450]- [10%o0f1,000) x Rs.2]

Cost per unit at Process A =

1,000 -10% of 1,000

. * 1
Selling price at Eth profit on sales or %th profit on cost = 5.50+ 20% of 5.50 =¥ 6.60

Process A Alc

Units 4

100 200
50 275
340 2,244
510 2,805
1,000 3,524
100 200
200

50 150
125

275

Units Amount

Units L4
Raw Material @ X 4 1,000 4,000 Normal Loss Alc @ 2
Wages 500  Abnormal Loss Alc @ T 5.50
Power 200 Bank (Sale) @ T 6.60
General expenses 450 Process B Alc @ ¥ 5.50
P & L A/c (Profit on Sale) 374
340 units @ T 1.10
1,000 5.524
Normal Loss Alc
Process AAlc @X 2 100 200 Bank @ T 2
200
Abnormal Loss Alc
| k@3
AAlc@X5.50 50 275 Ban
Process @ o S AL Al
275
Statement of Profit : _ z 374
Profit on sale 340 units @ ¥ 1.10 per unil 195
Less Abnormal loss T 249
Profit
.No.4:
Answer to Q 1377971008 _ oy 25135
Cost per unit at Process | = 5’300 _112-168
s | Alc
U:;il: EEEAmnu nt  Normal Loss g
2800 1,12,000 - Loss in weight ey
Materials ' 20608 > Scrap @6 240
Labour cost 5189  Transfer to warehouse
Administration cost Trans. to Process | A/c 1,680
5500 1oLl @F 54.28135 2,800
129,422 -1,200 =371.2344

Cost per unit at Process Il = [1,68[1 N 320]_ 80 - 120

1

1,008

45,596
91,199

7,797
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Process Il Account

Units Amount Normal L0OSS Unlatg Amount
0o 91,193 -Llossin weight y
Transf. from Process | Alc 1,68 20480 >Scrap @ 10 120 1200
Materials B 12560  Transfer to warehouse 720 5128
Labour L;-Dst'_! ) 5 189 Transf. to Process Il A/c %.%g. T%g&g;_
Administration co Too0" 120422 @371.2344 2,000 1,29 898
| - 164,262 - 2,592 — 7 49.898
Cost per unit at Process Ill = (1,080 + 2 520) — 144 126
Process lll Account
Units Amount Normal Loss h U’;Ltj Amount
ss in weight -
Transfer from Process Il A/c 1,080 76,933 3 Lg e z91 > 216 2 500
Materials 2,520 70,560 crap & 240 1
Labour cost 11580  Transfer to warehouse 3, 61,670
talatrati 518 T 49.898
Administration 3600 1—5_44_3 @ 3600 1 §4 263
to Q. No. 5.: PROCESS A :
Answer to o o e Units Amount
To input 20000 216,000 By Normal Wastage 400 740
To Materials 12.000 By Transfer To Process B 19,600 37,960
Alc
To Labour 8,000
To Expenses 2,000
20,000 38,000 20,000 38,000
PROCESS B
Units Amount Units Amount
To Process A 19,600 ¥ 37,960 By Normal Wastage 5% 980 < 392
To Materials 4,000 By Abnormal Wastage 220 609
To Labour 6,000 ByProcessC 18,400 50,959
To Expenses 4,000
19,600 51,960 19,600 51,960
PROCESS C
Units Amount Units Amount
To Prncegs B 18,400 ¥ 50,959 By Normal Wastage 1,840 T 392
To Materials 4,000 By Finished Goods Alc 16,700 63,120
To Direct Labour 6,000
To Expenses 2,000
To Abnormal 140 529
Effectives
18,540 63.488 18,540 63,488
_ NORMAL WASTAGE ACCOUNT
Units  Amount Units  Amount
To Process A 400 340 By S;:'e Proceeds of 1,840 T 392
a 3 .
To Process B 980 292 Proccas Aste Units ;
To Process C 1,840 368 Process B ggg S 40
Process C 1,700 g?ilz]
3220 8o By Abnormal Effec. A/c 140 28
3,220 800
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ABNORMAL WASTAGE ACCOUNT.

Units Amount

Units Amount

To Process B 220 76
08 E?; galg Proceeds of Waste Units 220 T 86
220 609 -&L. Al 521
220 6809
T *ABHDRMAL EFFECTIVES ACCOUNT
To Normal W nits Amount
0 astage 140 Units Amount
Alc T28 ByProcessC 140 T 529
ToP &L Alc
140 o
529 140 529
Answer to Q. No. 6 :
— i PROCESS | ACCOUNT
{l’jr;ltsj Amount Units Amount
G . S, 4
To Units introduced (Nos.) v
e 40,000 3,20,000 By Normal Loss (5% @ 2,000 1,400
To Material 70p. per unit
s used . 120,000 By Transfer to Process 38,000 5,58,600
|
To Direct Labour ) 80.000 (@R 14.70 per unit)
To Production Exp. - 40000
40000 5,60,000 40.000 5,60,000
_ PROCESS Il ACCOUNT
Units Amount Units Amount
(Nos.) ¢ (Nos) ¥
To Transfer from 38,000 5,58600 By Normal Loss (7% @ 2,660 2,128
Prr::cess | Alc 80 paise per unit)
To M_Eltenals used — 40,000 By Normal Loss (WN1) 740 14,584
To Direct Labour - 60.000 By Transfer to Process 34600 ©,81,888
| n@<19.7078
To Production EXxp. - 40,000
38000 6,98,600 38,000 6.98,600
PROCESS Il ACCOUNT
Units Amount Units Amount
(Nos.) L 4 (Nos.) 4
To Transfer from 34600 6,81,888 By Normal Loss @jﬂ% 3,460 3,460
Process ] at T 1 per unit
Account Fini 3 0 7
To Materials used - 40,000 By Tragfnfﬁrk {o Pjglsheé 2,00 8,28,700
25.8969 per unit)
To Direct Materials - 40,000
used
To Direct Labour - nggg
To Production EXxp. = 32'2?2
To Abnormal 860 -
Effectives A/C
@ 25.8969 (WN
2)] 35,460 8.32,160 35460 8,32,160
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Working Notes
1. Amount of Abnormal Loss in Process I/
= Normal Cost x Abnormal Loss in units
Normal Output
=6,98,600-2.128 x 740 = T 14,584
18,000-2,600
2. Amount of Abnormal Effectives in Process Il

= 8.00,888-3.460 * 860 = ¥ 22,272

34,600-3,460
. No. 7: Statement of Equivalent Production
Answer(o Q. No.7 ! Material Labour Overheads
Units ___ Qty. % Qty % Qty %
Normal loss 100 - - - - -
Abnormal loss 50 50 100 50 100 50 100
Finished units 600 600 100 600 100 600 100
WIP 250 200 80 150 60 150 60
1,000 850 800 800
Statement of Cost per unit
Cost Equivalent Cost per
Production Unit
L4 Units <
Unit introduced 6,000
Others direct Materials 2,700
8,700
-Value of normal loss 200
8.500 850 10
Labour 3,200 8.00 4
Overhead 1,600 800 2
Statement of Apportionment of Process Cost
Item Element Equivalent Cost per Total
| Units unit ¥ Cost
Units completed :.*‘Iaterial 600 10 6.000
Dab";l" 600 4 2,400
Abnormal Loss - 2,600 _
Material 50 10 500
Labour 50 4 200
Overhead 50
2 100
Closing WipP Material 200 =
10 2,000
Labour 150 4 6500
Overhead
150 2 300
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To Unit introduced

Material
wages

Production overhead

Process | Alc

Answer to Q. No. B :

CA R. K. MEHTA

Frocess | Account

Units T

1,000 6,000
2.700
3,200
1,600

1.000 13,500

Abnormal Loss Account

50 800

20 800

Unit

Normal loss 100

Abnormal Loss 50

Closing WIP 250
Process |l Alc

(Transfer) 600

1,000

Sale of Scrap 50

Costing P/L A/c -

50

200
800
2,900

9,600
13,500

EEs
o o
o o

Statement of Equivalent of Production (Average Cost)

rticulars -
Parteula Eu!tpsut Material Labour Overhead
. ; "
Opening stock " Unlt % Units 4
Units introduced
unlts‘ completed 28,000 100 28,000 100 28,000 1,000 28,000
closing WIP 12,000 100 12,000 3314 4000 33 14 4000
Equivalent Production (units) 40,000 I
40.000 32,000 32.000
Statement of Cost per unit
Material Labour Overhead
Opening WIP 29,600 6,600 5,800
Additional Cost 1,12,400 33,400 30,200
(A) Total Cost 1,42,000 40,000 36,000
(B) Equivalent Production (units) 40,000 32,000 32,000
Cost per units (A/B) 3.55 1.25 1.125
Total Cost per completed units
3.55 +1.25 + 1.125
=5925%
Statement of value of Equivalent Production
Partir:ulars: Type Eqg. Units Cost p.u. Cost Total Cost
Units Completed Mat. 28,000 3.55 ggggg
Lab. 28,000 1.25 .
OH 28,000 1.125 31,500 1,65,900
: 12,000 3.55 42,600
Closing WIP t'l:bt- 4,000 125 5.000
oH 4,000 1.125 4,500 52,100
0
W————i&%m Unit ¢
Units completed 28,000 1,65,800
To Opening WIP 8 000 42,000 Closing WIP 12,000 52,100
(29,600 + 6600+ 5800 ) '000 1,12,400
: 22,000 1,14,
Material 33,400
Wages 30,200 — |
Overhead 40,000 2.18

70000 2.18.000
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t
Answerto Q. No.9: E cess S0 x 18 - ?'ggg
Total sales value A 900 x B _ 1,600
C 400 x 4 - 2,200
D 200 x 11 - 20,000%
Total
|:
(a) Maximum price that may be paid for the raw materia 20.000 X
Sales value
. Conversion Cost : 1,000
Carriage inwards 3,000
VWages 20,000
Manufacturing Overhead 2,000
Administration Overhead 8,000
Total i 4o e _2.000 10,000
+ Desired Profit, on sale _ , : 10.000
Amount available as maximum which may be paid for buying raw material
(b) (I) Comprehensive Statement of allocation Costs (Units)
Products
Costs A J;l“t C D Total
500 900 400 200
T T [ ¢ L4 4
Materials 2 500 4,500 2,000 1,000 10,000
Wages 750 1,350 600 300 3,000
Camiage Inwards 250 450 200 100 1,000
Manufacture overhead 500 800 400 200 2,000
Admini, Over 500 900 400 200 2.000
Total Cost 4,500 8.100 3.600 1,800 18.000
(il) Comprehensive statement of allocation of Costs (sales value)
Sales Value 9.000 7,200 1,600 2,200 20,000
Material 4,500 3,600 800 1,100 10,000
Wages 1,350 1,080 240 330 3,000
Carriage Inwards 450 360 80 110 1,000
Manufacture overhead 900 720 160 220 2,000
Administration _900 720 160 220 2 000
Total Cost 8,100 6,480 1440  1.980 13%
Answer to Q. No. 10 : Statement of Equivalent Producti
input Output Units %  Units pav
600 Opening Stock 600 - - T;g U;I 2“; % Units % Units
11,000 Normal Loss 1,000 - . © 40 . 240 40 240
Abnormal Loss 200 100 y X - '
Finished Prodec. 8200 100 8 ggg :Ilgg 8 ggg 1;3 8 ;gg 70 140
Closing Stock 1.6 | : . 100 8,200
- : 00 100 1600 70 1120 60 960 60 950
1,600 n T —
11.800 10,000 9,640 9,540 9,540
Statement of Cost T
Elements -__T i
Material - Equivalent Production Cost Per unit
Material | |
- Scrap values s
500
Add in Material Il 22?3 10,000 0.50
Labour 7'1 55 9,640 0.25
Overhead o :s 540 0.75
-9.940 940 )
Total Cost 24 105 1,00
2.50

_—
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Opening Stocks
Martial |

Material Il
Labour
Overhead

Abnormal Loss
Material |

Material Il

Labour
Overhead
ished Produ
Material |
Material |l
Labour
Overhead

Closing Stock
Material |
Material |l
Labour
Overhead

WIP
Process |
Material
Labour
Overhead

input Output

Units
900 Open. WIP
Normal Loss
Abnormal Loss
9,100 Finished goods
Closing WIP

e .

10,000

Elements
Materials

- Scrap
1,000 units x 3 X

Labour
Overhead

Statement of Evaluation

CAR. K. MEHTA

AmL

500
395

22,000
2,760

Cost per unit

I?
120 units x 25 30
240 units x Q.75 180
240 units x 1.00 240 450
200 units x _50
2000 x 25 123
140 x .75 105
140 x1.00 140 395
8.200 units x .50 4,100
8,200 x 25 2 050
8,200 x 75 6.150
8200 =100 8200 20,500
1,600 x 50 800
1,120 x 25 280
960 x 75 270
960 x1,00 980 2.760
Total Cost 24 .1
Process |l Account
Units Amt Units
600 1,050 By Normal Loss 1,000
11,000 5,500 Abnormal loss 200
2410 Transfer to Process ll|
7,185 (Finished Production +
9,540 Opening stock) 8,800
WIP 1,600
11,600 25655 11.600
Material Labour Overhead
% Units % Units % Units
900 - - 40 360 40 360
1,000 - - - - = p
200 100 200 70 140 70 140
6,900 100 6,900 100 6,900 100 6,900
1,000 100 1,000 80 800 80 800
10,000 8,100 8.200 8.200
Statement of Cost
Cost Equivalent Prod uction
27,300
3.000 24,300 8,100
8,200 8,200
16,400 8,200

48,900

DN = W

25.699
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Statement of val :' nift: ulva ::st rn Cost Total Cogp™
Particulars Type = []l;lI 3 600 =S
Abnormal Loss Material ? 40 1 140
Labour 2 280 1,020
Overheads 140 3 3,000 TS
Closing WIP Materis 1o 1 800 5
apo 1,600 40
Overhead 800 g ~ L
. WIP, completed Material - 360
Op. Wi P Labour 360 1 720 1
0 2 —t 080
Overheads 36 3 20.700 ——
Issued, completed Material 6,900 1 6.900
Labour 6,900 2 13,800 41,400
Overhead 6,900 e —
Total cost of 7,800 units T/F to Process Il
900 units out of opening WIP 0
—» Cost already incurred 4,50 _ 580
—» Cost now incurred | 1.080 41 ' 400
6,900 units out of issued units 46 980
| Process No. | Account
Opening WIP 900 4,500 By Normal Loss 1,000 3,000
Material 9,100 27,300 Abnormal Loss 200 1,020
“Labour 8,200 Process |l 7.800 46,980
Overhead: 16,400 Closing WIP 1,000 _5.400
10,000 56,400 10,000 56,400
Answer to Q. No. 12 :
Statement of Equivalent Production (Average Cost Method)
Particulars Units % Units % Units % Units
Completed units 14,000 100 14,000 100 14,000 100 14,000
1 1 -
Closing WIP 6,000 100 6,000 33 -5 2,000 33 E 2,000
20,000 20,000 16.000 16,000
Statement of Cost per Unit
Particulars Material Labour Overhead
Cost of opening WIP 3 6,000 1,000 1,000
Cost now incurred 25.600 15,000 15.000
TDtE.| cost | 31,600 16,000 16.000
Equivalent units 20,000 16,000 16,000
Cost per unit Z1.58 71 1
Statement of value of equivalent production
| Type of cost  Units Cost/unit Cost Total Cost
Completed units Material 14,000 1.58 22,120
IE}abnur 14,000 1 14,000
| verheads 14,000 1 14,000 - 50,120
Closing WIP Material 6.000 1.58 9 480
Labour 2000 1 |
' : 2,000
Overheads 2,000 1

2,000 13,480
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Procass A Account
To Opening WIP anite ? Units 4
To Materials 14'”00 8,000 By Completed units 14,000 50,120 .
6,000 ]
To Labour fz.EUU By closing WIP 6.000 13,480
To Overheads . 'nng
20,000 63,600 20,000 ©3.600
wer to Q. No. 13 - _
|AI'I5 : Q. No. 13 : Statement of Equivalent Production during the month
npu
U[I:It_r, Particulars Equivalent Production

Output Plain Cloth Dyes & Chemicals Labour ~ Overheads

. Units % :
2,000 Opening WIP completed Units % Units % Units %  Units

during the month 2,000 - - ¢

24,000 Fresh input of plain cloth <% 400, %0 el s 1A
Normal Loss 5% 1,000 - ] - Lt . - - -
= 5/100 (2,000 +

24,000-6,000)
Fresh output fully prod-
uced During the month

(17,500-2,000) 15,500 100 15,500 100 15,500 100 15,500 100 15,500
Abnormal Loss 1,500 100 1,500 60 900 40 600 20 300
WIP at the end _6000 100 _B6000 70 4200 65 3900 25 1,500
26,000 26,000 -
Equivs "2nt Froduction 23.000 21,000 20,800 18,700
Statement of Per Unit Cost of Each Input Item
Input Item 4 Total Cost () Equivalent unit Cost per Unit ()
Plain Cloth 2,33,000
Less : Realisation from
Normal
Scrap 1,000 x ¥ 3 -3.000 2,30,000 + 23,000 = T10
Dyes & Chemicals 1,658,000 + 21,000 = T 8
Direct Labour 1,04,000 + 20.?23 5 : 5
Overheads 56,100 + 18,700 = 3
<26
Total

Statement of Apportionment of Total Cost Incurred During the Month

Equivalent  Cost per unit  Total Grand Total
t Item
Output ltem Inpu Units ®) ?) ?)
Opening Working in Progress

Plain Cloth k 8 = 3200

Dyes & Chemicals 433 i 5 = 4000

Direct Labour 0 3 = 4200 11,400

Overheads 1,400 X ’ |
Abnormal Loss : 1 500 X 10 = 15,000

Plain Cloth ' 8 = 7,200

Dyes & Chemicals :gg : 5 = 3,000

Direct Labour 300 X 3 = 600 26,100

Overheads
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Finished Output (Printed Cloth) :
Fully completed afresh during the month y 10 = 1,55.000
Plain Cloth 15,500 g8 = 1,224,000
DYEE & ChEmiCEIS 15.500 X 5 - 77.500
Direct Labour 1 5,5‘00 X 3 — 46.500 4|03.ODB
Overheads 15,500 X
Closing Work in Progress : 10 = 60.000
Plain Cloth 6.000 X 8 = 33 600
Dyes & Chemicals 4,200 X 5 = 19,500
Direct Labour 3,900 X 3 - 4'500 1.1?.600
Overhead 1,500 X 5.58,100
Printing Process Account — A
Units Amount N . 000 ;:E;
Opening WIP 2.000 50,000 Normal Loss L . .
Input 24,000 2,33,000 Abnormal Loss A/C — o8 94
Dyes & Chemical 168,000 @33 - 100
D. Labour 1.04,000 Finished ﬂutlel:t_ b
Factory overheads 56,100 gﬂﬂ:ﬁ: to Finis 17500 4544
Closing WIP _6.000  1.17.600
26,000 6.11.100 26,000 11,100
Normal Loss Account
Units Amount Units Amount |
Printing Process A/c 1,000 3,000 Bank (sale of scrap) 1,000 3.000
1.000  3.000 1,000 3,000
Abnormal Loss Account
Printing Process Alc 1,500 26,100 CostingP & L Alc 26,10
1,500 26.100 26,100
Computation of Cost of Transfer of 17,500 units of Finished output : .
L4
Cost already incurred on opening WIP 90,000
Costs incurred on completing opening WIP 11.400
Total cost of opening 2,000 units 61.400
Cost of fresh output of 15,500 units 4 03.000
Total cost of 17,500 units of completed
Output transferred to Finished Goods A/c
464,400

Notes :

*

(i) Realisable value of normal scrap has been deducted from the cost of plain cloth

because scrapped cloth has saleable value due to cloth

content only.

(i) Since abnormal loss is due to fire, it has no saleable value. Hence entire value of
output abnormally lost, i.e., X 26,100 has been debited to P & L Alc.

Answer to Q. No. 14 :

Particulars P

Final Sales Value 8,000 x 13.75
=1,10,000

(-) Expected Profit (22,000)

(1 of cost = 1 of salesJ
4 5

(-) Separate Cost 8.000x5
= 40,000

Net Realisable Value 48,000

Q Total
6,000 x 8.75

= 52,500 1,62,500

(10,500) (32,500)

6.000 x 4 (64,000)

= 24,QUQ ——

18.000 66,000




COST ACCOUNTING

CA R. K. MEHTA J

- 5.43
Share in Joint Cost - -
P = 88,000 x E =3 64.000
11 AR
Q = 3
88,000 x — =% 74 000

11

< 88,000

Answer to Q. No. 15 : Total Joint Cost

Raw Materials cost N
i 35,90,000
Manufacturing expenses o 7,000
41,37,000
A urtiunm;n: of Total Joint Cost (on the basis of net realisable value
Prod o oS Post-separation Net realisable  Joint
roduct Value (%) Cost (%) Value () Cost (%)
A 2,00,000 units x T 25
=< 50,00,000 12.50,000 37,50,000  26,25,000
B 30,000 x 17
=5,10,000 1,650,000 3,60,000 2,52,000
C 25,000 x 12
= 3,00,000 50,000 2,50,000 1,75,000
D 20,000 x 10
=2,00,000 - 2,00,000 1.40,000
E 75,000 x 20
=15,00,000 1,50,000 13,50,000 9,45,000
59.10.000 41,37,000
(a) Statement of profit if none of the Products are to be further processed
A B C D E Total
Sales Value 73400000 3,90,000 200000 200000 10,50,000 52,40,000
~ (units x S.P.per unit at)
lit-off point
fﬂ;ﬁ? Jginl Cost 26.25000 252,000 175000 140,000 9.45000 41,37,000
Profit 775000 138000 25000 60,800 105000 1103000
(b) Statement showing profit or loss If all the products are sold after further processing
Product Joint cost Separate cost Total cost Sales Profit
A 26,25,000 12,50,000 38,75,000 50,00,000  11,25,000
B 2,52,000 1,50,000 4,02,000 5,10.000 1,08,000
C 1 '.75- 000 50,000 2,25,000 3.00,000 75,000
D 1,40,000 — 1,40,600 2,00,000 60,000
E 9,45,000 1,50,000 10,95,000  15,00,000 4,05,000
| 17.73,000

(c) If Products B and D are sold at split-off point an

processing, the company will to ac X

11,25,000
1,38,000
75,000
60,000
4,05,000

_-__.L-—II—-"-

8.03,000

_18,03,0U8

moo >

d products A, C and E are sold after further

hieve maximum profit which is computed below.

e S
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A No. 16 : statement of APP“”‘“"mE"t of Cost
nswer to Q. No. 16 : Main Product By-Pmduc':'?:tal
2 7 A 4 B L4 L4
90,000 60.000 40,000 1,980,000
Sales . ) 50 _12,000 6,000 =40.,000
Less Profit 2.5%, 20%, 15% on Sales :_:‘?2 55000 48,000 34,000 1,49,500
Cost of Sales ' -
‘ 4800 -3400 =14,950
Less : Selling & Distribution Expenses -6.750 4—""—“3 00 30,600 1,34.500
(Balance figure in the ratio of cost of sales) 60,750 . 0 4000 15,00
y * off 6,000  =5000 = =280
ess Cost beyond split 0 38200 26,600 1,19.950
Share in Joint Costs 54,750 ' ' '
Main Product P Alc > 50,000
Share in Joint Costs 54,750 Sales '
Costs after split off 6,000
Selling & Distribution expenses 6,750
Profit 22,500
90,000 90,000
Answer to Q. No. 17 : Statement of Apportionment of Joint Costs (Share of Brucil)
L4
(i) Sales value of Brucil 2,000 units @ ¥ 34 68,000
| ess : Estimated profit (2,000 x 4) -8,000
Total cost 60,000
Less : Post-separation expenses (4,000 +18,000 + 6,000) -28.000
Share of Brucil in Joint expenses 32,000
Total Joint expenses (1,00,000 + 50,000 + 30,000) 1,80,000
Less Share of Brucil in Joint expenses 32,000
Joint Cost apportioned to Bomex 1,48,000
(i) Statement of Profitability for the month of April
Main Product By-Product TotalX
Bomex () Brucil (Y)
Share in Joint Expenses 1,48,000 32,000 1,80,000
Separate Expenses 36,000 28.000 64,000
Total Cost 1.84,000 60,000 2,44,000
Sales 1,96,000 68,000 2.64,000
Profit 12,000 8,000 20,000
Answer to Q. No. 18 :
(a) ST?TEMENT OF APPORTIONMENT OF JOINT COSTS
according to sales value at split-off meth
Products Sales value at the e thod) Joint cost allocated
Split-off points (¥) T '
M 20,00,000 < 20,00,000 = 40,00,000/80,00,000 = 10,00,000
N 12,00,000 < 12,00,000 = 40,00,000/80,00,000 =  6,00,000
0 20,00,000 < 20,00,000 x 40,00,000/80,00,000 = 10.00.000
P 28.00,000 < 28,00,000 x 40,00,000/80,00,000 = 14.00.000

80,00,000 40,00,000
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A
TEMENT OF APPORTIONMENT OF JOINT COSTS

(p)

(ace
—ducts Physical outout “fﬂfﬂg.tu physical output (gallons) method)
(in gallons) Joint Cost Allocated
M 3,00,000 - v
N 1.00.000 ?-ﬂﬂ.ﬂﬂu x 40,00,000 /5,00,000 = 24,00,000
0 50,000 -gﬂ-ﬂﬂﬂ x 40,00,000 /5,00,000 =  8,00,000
P 50,000 0,000 x 40,00,000 /5,00,000 = 4,00,000
Total  5,00.000 50,000 = 40,00,000 /5,00,000 = .4,00,000
40,00,000
G
(©) S{::TE':ENT OF APPORTIONMENT OF JOINT COSTS
_ S cording to estimated net realisable value method)
Revenue Sales F
urther Net Joint Cost
Products fu”'ftﬂf revenue at processing realisable Allocated
er the split-off costs value
processing point
(9 (% (Y (9 (Y
‘Super M 1.20,00,000 80.00,000 40,00,000 20,00,000
T 40,00,000
T 40,00,000 Dkl
[ R ao.uu.nou]
‘Super N' 40,00,000 - 32,00,000 8,00,000 4,00,000
T 40,00,000
< 8,00,000 —
( " au.ue.oon]
0 - 20,00,000 . 20,00,000 10,00,000
(: 20 00,000 x -20.00.,000
2 80,00,000
'‘Super P’ 48,00,000 . 36,00,000 12,00,000 6,00,000
(? 12.00,000 x~20.00,090
< 80,00,000
Total 80,00,000 40,00,000
il DECISION ABOUT THE FURTHER REFINING OF PRODUCTS M,NORP
) T-"ruducts ] M_T N_¢ P Y
1. Sales Revenue after further processing 1,20,00,000 40,00,000 48,00,000
> Sales Revenue at the split-off point 20,00,000 ;gggggg ggggggn
3. Incremental Sales Revenue [(1)—(2)] 1,00,00,000 P 00,000
4 Further Processing C ost 80,00,000 32,00,000 36,00,000
. er
5. Profit (Loss) arising due to Furth 20.00.000 (4,00,000) (16,00,000)

Processing [(3) — (4)]

Decision * The above table shows that further processing of products N and P results in the decrease

: _M/s Sunshine should not go for further processing of its
of the operating profit by < 20,00.80° Hﬁ;f :mcessed surther, it would increase the operating profits of

N and P products. If these products are
the cumppany for the month of October, 1099 by ¥ 20,00,000
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Answer to Q. No. 19 -

5.46

(a) PROCESS | ACCOUNT

- Kgs. T )
Kgs. : 250 500
To Direct Materials 2,500 10,000 By Normal LOSS 5 a0 20.700
To Direct Labour 6,250 By Process Il '
To Overhead 4,500 (@9
To Abnormal Gain 50 450
@3 9) — 0 | 212
2550 | 21.200 2550 | 21200 |
~ 10,000 + 6,250 + 4,500-500
Cost Perkg. = = 00 kgs. - 250 kgs.
NORMAL LOSS ACCOUNT )
To Process | 250 500 | By Bank 200 400 -
By Abnormal Gain 50 100
250 50 | 250 500
ABNORMAL GAIN ACCOUNT
Kgs. 2 Kgs. T
To Normal Loss 50 100 By Process | 90 450
ToP & L Alc. 3 350
50 450 50 450
(b) STATEMENT OF PROFIT _
(attributable to each of the Joint Products according to weight
of output and market value of production)
Joint Output Selling Sales Joint Cost Profit Profit
Prod Price Value Apportionment according (Loss) (Loss)
per Unit to:
Weight Market Weigh Marke
of output value of t of output t value of
production production
Kg. 4 4 4 4 4 4
1 2 3 2x3=4 5 6 4-5=7 4-6=8
A 900 24 21,600 13,500* 17,250 8,100 4,350
B 800 18 14,400 12,000 11,500 2.400 2,900
C 600 12 7,200 9,000 5,750 (1.800) 1,450
2,300 43,200 34,500 34 500 8.700 8.700
Working Notes :
(1) Joint Cost of three products under Process 2 :
Transfer of output from Process | z 20,700
Add : Direct Labour 6,900
Overhead 8.900
Total 34,500

1
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(2)

Apportionment of Joint Cost on the basis of weight of oulpul

;ﬂr;::um Output S.P. Sales Share of
A 300 In kg. (perunit)  Revenue Joint Costs
A 200 24 21,600 7 34,500/6 * 3 =% 17.250
o S0 18 14,400 % 35,500/ 6 x 2 =¥ 11,500
12 7,200 Z 34,500/6 x1 = 5750
43,200 734,50
(3) Apportionment of Joint Cost on the basis of weight of output
Product Output (Kgs.)  Share of Joint Cost
A 900 34,600 x 900/2,300 = 13,500
B 800 34 500 x 800/2,300 = 12,000
C 600 34,500 x 600/2,300 = _9,000
2.300 34,500
Answer to Q. No. 20 : Cost per unit at Process X = 75.344 -80 =3 19.20
4 000-80
Process X Account
Units | Amount Units | Amount
Input 4,000 12 000 | Normal Wastage A/C @1 80 80
Materials 16,000 | Abnormal Wastage @ 19.20 20 384
Direct labour 24.000 | Process X Stock Alc @ T 19.20 3,900 74,880
Works expenses 3,344
4,000 75,344 4,000 75,344
Process X Stock Account -
Units | Amount Units | Amount
Opening Stock @ X 19 400 7.600 | Process Y Alc-transfer 4,000 76,720
Transfer from Process X A/C 3,800 74,880 | Closing stock @ X 19.20 300 5,760
4,300 82,480 4,300 82,480
1,01,500 — 800
Cost per unit at Process Y = =326.50
P 4,000 — 200
Process Y Account
Units Amount Units | Amount
T 3 Normal Wastage Alc 200 800
x::"lcsfer from Proces 4,000 76,720 | Process Y Stock Alc
Materials 6.000 | @ ¥ 26.50 per unit 3,850 | 1,02,025
Direct labour 16,000
fﬂrks expenses 2,780
bnormal gain A/C .
@% 26,50 50 1,325
4,050 1,02,825 4,050 | 1,02,825
process Y Stock Alc '
Units | Amount Units | Amount
: ing stock @ ¥ 26.50 800 21.200
Openi 600 15,600 | Closing S 1
o :‘i“mwss Gost of goods sold Alc 3650 | 96,425
Y Alc 3,850 | 1.02.02 ]
4 450 117,625 4450 | 117625

-
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Answer to Q. No. 21 Let the quantity of raw material introduced in Process | be 100 kg. The
Output and input in the four processes then is as follows:

Process | Process Process Il Process |y ]
Loss Low ‘as 5 0 = - 1 . 418
s LOSS (k. 25n =25 20% =15 20% = % 62/3%=_g
Output (kg.) 75 60 28 4

Thus if the end output is 40 kg. the input in Process | is 100 kg. If output of process IV is 40,000
Kg. the input in Process | will be 40,000 x (100/40) = 1,00,000 kg. Thus, for 1 kg. of output 2.5 kg.
of materials is required. If costs of material increases or decreases by ¥ 1, the cost of output wij
Increase or decrease by 100/40 =X 2.50 per kg.

Total cost of initial input for 40,000 kg. of output = 1,00,000 kg. x ¥ 50 = Z 50,00,000
Input cost per kg. of output = ¥ 50 x 2.5 kg. = T 125.

Answer to Q. No. 22

Crushing Process Account (for January)

Tons & Tons L
Raw Materials 200 | 9,00,000 | Bank (Sale of oil cakes) 200 60,000
Wages 32,000 | Bank (Sundry by-product) 25 3.60q
Power 4,800 | Crude Oil transfer to Refining
Sundry Materials 2,000 | Process @ T 3213.09 275 | 8,83,600
Factory Expenses 2,400
Establishment Expenses 6,000
500 | 9,47,200 900 [ 9,47.200
Refining Process Alc (for January) .
Tons v Tons L4
Crude oil transferred Bank (Sale of by-product) 20 3,600
from Crushing Process 275 | 8,83,600 | Loss in weight 2 -
Sundry Materials 7,600 | Refined Oil transfer to
Wages 23,600 | Finishing Process
Power 4,000 | @% 3,692.80 250 [ 9,23,200
Factory Expenses 4,000
Establishment Expenses 4,000 |
14,000 x (2+7) 275 | 9,56,800 275 | 9,26,800
Finishing Processes Alc (for January)
Tons 4 Tons (4
Refined oil transferred Bank (Sundry Sales) 10 4,800
from Refining Process 250 | 9,23,200
Wages 23,500
Power 6,000
Factory Expenses 3,800
Establishment Expenses 4,000
14,000 x (2+7)
Cost of Drums 84,100 | Cost of Sales 240 | 10,39,800
(@ T 4,332.50)
240 ] 10,39,800 240 | 10,39,800
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Answer to Q. No. 23 Stat
= ement of Profitability at the Split-off point
Products |  Sales Value at Spiit-off por ty plit-o P ;
(i point | Joint Costs Apportioned Profit
A PRI (V) | (i) | (1) = (iii) = (iv.
3 b 00 X 85,743 % 29,257
. 0,000 67,103 22,897
5 95,000 41.007 13,993
Total 3 50,000 59,647 20,353
_ 40,000 2,53,500 86,500
Note : Joint cost has been apportioned in the ratio of sales at split-of point.
Statement of Profitability after Further Processing
Product | Sales Value after Additional Net Sale Value | Joint cost Profit
' Further Ffucnssing Processing Cost ey
ij — é 'E? (iii) (i) = (iii) = (iv) (v) (iv) = (v) = (vi)
P 000 ¥60,000 T 1,08,000 385,743 T 22,257
g .ﬁﬁ.ﬂﬂﬂ 10,000 1,00,000 67,103 32,897
0,000 - 60,000 41,007 18,993
D 90,000 20,000 70,000 59,647 10,353
Total 4,28,000 90,000 3,38.000 2,53,500 84,500
Statement of Incremental Cost and Revenue
Product Incremental Processing Cost Incremental Revenue (<) Gain or Loss (3
A 60,000 1,68,000-1,15,000=53,000 —{(7,000)
B 10,000 1,10,000-90,000=20,000 10,000
C - 60,000-55,000=5,000 5,000
D 20,000 90,000— 80,000 = 10,000 —(10,000)
Total 90,000 88,000 - (2,000)

Incremental total revenue is greater than additional processing cost in case of B and C. Therefar;
B and C should be sold after further processing. It is less in case of A and D. Therefore Aand D

may be sold at the split-off point. This will maximize profit as shown below:
Statement Showing Maximum Profit with Appropriate Decisions

Product
A
B

C
D
Total Maximum Profit

Answer to Q. No. 24

Profit (<)
29,257
32,897
18,993
20,353
Z1,01,500

If sold at split-off point.

If sold after additional processing.
If sold after additional processing.

If sold at split-off point.

(i) Statement of Net Income for Individual Products (Sale after Further Processing)

Note ; 1. Joint cost has been apportioned to produc
In the same way calculations are made for B,C and D.

be 27,600 x1,15,000
1,569,000

= 70,692.

h\\____

A

Joint Cost Separate cost Total cost Profit
A Z 1.15.000 T 70,592 T 30,000 ¥1,00,592 T 14,408
B 10,000 6,138 6,000 12,138 12138
C 4 000 2,455 - 129.?155 111545
D 30,000 18,415 1,000 s 0,585
Total 1 59'000 97,600 37,000 1,34,600 24 400

s in proportion to Sales Value. For A it will
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2. Joint cost can also be apportioned in the ratio of sales at split off point.
(ii) Statement of Net Income (sale at split off) .
j ' int Cost Profit
Value at Split-off Point Jnmm ) 0
quucrs >808 (ii) (iii) (ii) — (iii) = (iv)
() 500000 x 0.15 = 3 75,000 I 70,592 T 4408
B 10,000 x 0.50 = 5,000 6,138 (-) 1.138
: 5,000 x 0.80 = 4,000 2.455 1545
. 9,000  3.00 = 27,000 18,415 —8.585
D ' ' 1,11,000 97,600 13,400
A B C| o
Incremental Sales Value (for A = 1,15,000-75,000) | 40,000 5,000 4.000 3,000
Separate Costs 30,000 6.000 4,000 1,000
Incremental Gains 10,000 | -(1.000) Nil 2,000

In case of A and D there is incremental gain after furthrgr prnces.sing. Therefore A and D should
be processed further but B and C should be sold at split —off point.

Statement showing Income with A and D
Further Processed but B and C Sold at Split off

Products | Sales Value | Joint Cost Separate Cost Total Cost ) Profit
(i) (i) (iii) (iv) () * (iv) =(v) | (ii) = (v) = (vi)
A T 1,15,000 X 70,592 < 30,000 ¥ 1,00,592 3 14,408
B 5,000 6,138 -~ 6,138 (-) 1,138
C 4,000 2,455 - 2,455 1,545
D 30,000 18,415 1,000 19,415 10,585
Total 1,54,000 97,600 31,000 1,28,600 25,400
Thus, by altering the processing decisions, the overall net income will increase by ¥ 12,000 and
will be ¥ 25,400.
Answer to Q. No. 25 Process | Alc
Particulars Units | Amount | Particulars Units | Amount

To Raw material introduced 2,000 | 60,000 By Wastage

2,000 | 1.55.757

To Wages 90,000 | By Sale of By-product
To Factory overhead 40,000 | By Transfer to Process II
To Profit & Loss A/c 5,757

(By-product)

20 -
380 34,545
1600 | 1,21,212

2,000 | 1,55,757

Cost of By-product -
Rs.1,50,000
= x 380 tonnes ailic
2,000 tonnes - 20 tonnes
Add : Profit (20% on cost) 5,757
Sale value of By-product 34'545 :
— Process Il Alc
articulars Units | Amount Particul {
To Transfer from By Wazt:; Un.;tg Amaun_
Process | Alc 1600 | 1,21,212 By Sale of By-product 170 | 25,881
11_'0 ;’t’itges o 40,000 | By Transfer to
O Factory overhea 30,000 Fini -
To Profit & Loss A/c 5,176 vond prodict ] R
(By-product)
1600 | 1,96,388 1600 | 1,96,388 |
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Value at split off point

"Cost of By-product @
_ Rs.1,91,212
1600 tonnes - 30 tonnes * 170 tonnes 20,705
Add : Profit (25% on cost)
Sale value of By-product 5176
25,881
JAnswer to Q. No. 26
Product Uni
( lit:.; f; Market Valu’?tper Total Market | Apportioned Cost per
Petrol 32 0 itre ¥ Value ¥ Costs ¢ Unit T
Lubricating Oil 5.0 1.20 38.4 57.4 1.80
Fuel Oil 50.0 2.00 10.0 15.0 3.00
Kerosene 8.0 g-?g 25.0 37.3 0.75
Gas Ol 30 0-30 6.0 9.0 1.12
98.0 . 0.9 1.3 0.43
: 80.3 120.0
Note: Costs are apportioned on the basis of market value (quantity x value per unit).
ml__i‘iﬁt__@. No. 27 ALPHA ACCOUNT (MAIN PRODUCT)
T 7
To Miatenals : By Beta Account (By-product) 1,100
Joint 10,000 By Cost of Production of Alpha 30,900
Separate 6.000 16,000
To Labour:
Joint 7.000
Separate 5.000 12,000
To Overheads:
Joint 2. 500
Separale 1,500 4,000
32,000 32,000
BETA ACCOUNT (BY-PRODUCT)
< 4
To Alpha Account (Bal. Fig.) By Bank (Sale) 6,000
(Portion of Joint Expenses) 1,100°
To Materials 500
To Labour 2,000
To Overheads ; ggg
To Proft 6,000 6,000
: NT SHOWING THE APPORTIONMENT OF JOINT COSTS
Answer to Q. No. 28 (i) STATEME = Product By Products
- X 4 AT BY Total T
90,000 60,000 40,000 1,90,000
Sales 22 500 12,000 6,000 40,500
Less: Profit 67,500 48,000 34,000 | 149,500
Cost of Sales
Less: Selling Expenses
(10% of T 1,49,500) 44 2 990 5,980 5,980 14,950
Apportioned in the ralio of 24 64,510 42020 | 28,020 134,550
Cost of Production 6.000 5,000 4,000 15.000
Less: Cost after separation 58.510 37,020 24,020 [ 1,19,550




CAR. K MEHE

COST ACCOUNTING i 5.52
(i) STATEMENT SHOWING THE ECONOMICS OF PRODUCT A _
- Sales at split Sales after furthg,
foce 4
| offstage T p _Em 1
Sales 58,500 60,000 }
| Profit 21,480 1_1@3?1‘ 1
Product A should be disposed at split off point. ] 11
Answer to Q. No. 29 PROCESS A ACCOUNT .
Tons | ¥ Tons ¢ -
To Matenals 1,000 12,000 | By Wastage 2 _
To Wages 10,000 | By By-products (sale) 8 200 |
To Factory Overheads By Cost of Products |
(75% on wages) 7,500 Transferred to Process B 990 29,30[1* :4
1,000 29,500 1,000 29.50EL }

PROCESS B ACCOUNT

Tons 4 Tons v
To Transfer from Process 990 29,300 | By Wastage 3 =
To Materials 700 | By By-products (sale) S 100
To Wages 20,000 | By Cost of production
To Factory Overheads 12,000 Transferred to Process C 082 61,900
(60% on wages)
990 62,000 990 62,000
PROCESS C ACCOUNT
Tons g Tons v
To Transfer from Process B 982 61,900 | By Wastage 2 -
To Materials 600 | By Cost of production to
To Wages 36,000 Finished Goods 980 | 1,16,500
To Factory Overheads
(50% on wages) 18,000
982 | 1,16,500 982 | 1,16,500
Answer to Q. No. 30 (i) Statement of Equivalent Production
(FIFO Method)
Input Material Labour Overheads
% % %
| Units Units Units
Opening 2250 Completed 2250 - - 40 900 40 900
W.ILP. units units
Introduced 22.?{5[] Completed 17,250 100 17,250 100 17,250 100 17,250
units units
Normal 2,500
loss unils
Abnormal 500 100 500 70 350 70 350
Loss Units
Closing 2.51;]0 100 2,500 80 2,000 80 2,000
W.ILP. units I
— — - - _ e ——
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(i) Stat
item of Cost ement of Cost per unit
Amount | Equivalent | (Unit) Cost per
Material () | production unit (3)
Less: Revenue from sal 88,500
(2,500 units x ¥ 3) e of normal loss 7.500 81000 | 20,500 4
Direct wages
Production overheads 20500 | 20,500 1
Cost of completing one unit 41,000 | 20,500 ?{
Statement of Evaluation
Type of Cost | Eq. Units | Cost/Unit Cost Total
Cost
Abnormal Loss Material 500 3 37000
'E)Ebﬂur 350 1 350
. verheads 350 2 700 3,050
Closing WIP Material 2,500 4 10,000 )
Labour 2,000 1 2,000
. Overheads 2,000 2 4,000 16,000
Opening WIP, now completed Mateiral — 4 -
Labour 900 1 900
Overheads 900 2 1,800 2,700
Introduced and completed Material 17,250 4 69,000
Labour 17,250 1 17.250
Overheads 17,250 2 34,500 1,20,750
Computation of Total cost of 19,500 units transferred to Process Il
2 250 units of opening WIP L4
_, Cost already incurred 11,250
_ Cost now incurred _2,700 13,950
17.250 units out of introduced units 1,20.75
1,34,700
Process | Account
Particulars Units Particulars Units <
Tﬂ c:::ning WIP 2250 | 11.250 | BY Normal Loss 2,500 7,500
To Material 22,750 88.500 | By Unit completed and
To Wages 20,500 transferred to Process I 19,500 | 1,34,700
; _ 41,000 | By Abnormal loss 500 3,050
To Production overheacs | By Closing WIP 2500 | 16,000
25.000 | 1.61 250 25000 | 1,61,250 |
t of prufitahility of an Oil Mill (after carrying out further
Answer to Q. No. 31 (i) Statement 90
processing) for the quarter ending 31 march 2005 _ 1
Sales Value Share of Additional | Total cost Profit
Products after further Joint cost | processing after | (loss)
rocessin cost | processing ~
: 1.72,500 08,567 43,000 141667 | 30,833
AOXE '45.000 19,733 9,000 28733 | (13,733)
BOXE 5‘ 000 4933 - 4,933 1,067
COXE 45000 | 24867 4500 | 26167 | 18833
DOXE —— 738,500 | 1 48,000 53500 | 2.01,600 [ 37,000
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itabili he split off point
(ii}:it:;ir:;e:;:]feprnflt;l;;:;gga;;m Outputin | Sales valueat |  Share of | Profjj o
of split off units | split off point | - JoINtCost | split ofy
Qing
BOXE 6 4,000 24,000 19,733 4,267
COXE 3 2,000 6,000 4,933 1,067
DOXE 7.50 4,000 30,000 24,667 5,333
1,80,000 1,48,000 Sﬁﬁ"ﬁ"
Note: Share of Joint Cost has been arrived at by considering the sales value at split off point.
Answer to Q. No. 32 : Process lll Alc : —
Units | ¢ Units | ¥
To Opening W.I.P. 2,000 25,750 | By Normal Loss 2,500 7.500
To Process Il Alc 53,000 | 4,11,500 | By Process \Y 48,000 | 7,19,750
To Direct Materials 1,97,600 | By Closing WIP 5000 | 61,500
To Direct Wages 97,600
To Production Overheads 48,800
To Abnormal Gain 500 7,500
55,500 | 7,88,750 55,500 | 7.88.750
5 .
Normal Loss = —— [Op. WIP + Units from Process Il — Closing WIP]
100
S .
= m (2,000 + 53,000 - 5,000) = 2,500 units
Statement of Equivalents Production (FIFO)
Equivalent Units
Units | Particualrs Units Mat. (1) Mat. (2) Lab OH
In Out
% Qty. % Qty. % Qty. % Qty.
2,000 | Op. WIP, 2,000 - - 20 400 | 40 800 | 400 800
completed
53,000 | Introduced and 46,000 | 100 | 46,000 | 100 | 46,000 | 100 | 46,000 | 100 | 46,000
completed
Transferred 48,000
Normal Loss 2,500 - - - - - - - -
Closing WIP 5,000 (100 5000| 70| 3,500| 50| 2500| 50| 2,500
Abnormal Gain (500) | 100 | (500) [ 100 | (500) | 100 | (500) | 100 | (500
55,000 55,000 50,500 49,400 48,800 48,800
Statement of Cost per unit
Type of Cost Amount Equivalent Units Cost per unit
Material (1) 411,500
(-) Normal loss 7,500 4,04,000 50,500 g
Material (2) 1,97,600 49,400 4
Labour 97,600 48,800 2
Overheads | 48,800 48,800 1
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statement of Value of E == CAR:E NORTS
o _
" Op. WIP, now quivalent Production
Completed Mat (1) - 8 —
Mat (2) 400 4 1,600
Lab. 800 2| 1,600
Introduced OH 800 1 800 | 4,000
& Completed Mat (1) 48,000 8 | 3,68,000
Mat (2) 46,000 4 | 1,84,000
Lab. 46,000 2 92.000
Abnormal Gain OH 46,000 1| 46,000 | 6,90,000
Mat (1) 500 8 4,000
Mat (2) 500 4| 2,000
léa:. 500 2 1,000
: 500 1 500 7,500
Closing WIF Mat (1) 5,000 8| 40,000
Mat (2) 3,500 4| 14,000
Lab. 2,500 2 5,000
OH 2,500 1 2,500 61,500
Com H“.n" of Tgtal Cost of 48,000 units transferred to Process IV
2,000 units of Oping WIP T
— Cost already incurred 25,750
— Cost now incurred 4 000 29,750
46,000 Units out of introduced units 6.90.000
7.19.750
Answer to Q. No. 33 : Process lll Account
Units L4 Units L4
To Opening WIP 6.000 19,440 | By Normal Loss 3,000 2,400
To Process 2 48000 | 1,10,400 | By Abnormal Loss 500 1,800
To Materials 27.180 | By Finished Goods Stock A/c 46,500 | 1,895,300
To Wages & Overheads 54,70 | By Closing WIP 4,000 12,240
54 000 | 2,111,740 54000 | 2,111,740
Quantity of Normal Loss
= —— [6.,000 units + 48 000 units — 4,000 units]
100
= 3,000 units
gtatement of Equivale Producti
Equivalent Units
: Units Material (1) Material (2) Wages & OH
Particulars Out % Qty. % Qty. % Qty
00 46,500 100 46,500
Units completed 46,500 | 100 46'_5_00 1__ _ - -
Normal Loss 3'033 100 500 80 400 60 300
Abnormal Loss . 100 4.000 50 2.000 30 1,200
Closing WIP 4,000 ‘
51,000 48,900 48,000
| 54,000 '
Statemen of Cost per nit
Material (1) | Material (2) | Wages & OH
Particulars 14,400 2.160 2,880
Cost in opening WIP 110400 | 27.180 54,720
Cost now incurred (24,400 _ -
Sale Value of N LOSS | Cost | 1 22.400 29,340 57,600
L 51,000 48,900 48,000
Equivalent Units 2.4 706 712
Cost per unit .
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Statement of Value of Equivalent Production
| Type of Cost | Eq. Units | Cost/Unit | Cost Total cmq
Abnormal Loss Mat.(1) 500 2.4 1,200
Mat. (2) 400 0.6 240
Wages & OH 300 1.2 360 1,800
Units completed | Mat. (1) 46,500 2.4 1,111,600
Mat. (2) 46,500 06 27,900
Wages & OH | 46,500 1.2 55,800 | 1,95,300
Closing WIP Mat. (1) 4,000 2.4 9,600
Mat. (2) 2,000 0.6 1,200
Wages & OH 1.200 1.2 1,440 12,240
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Q.1.

MATERIALS COST

A consignment consistin
storekeeper sorted them

Grade 1
Grade 2

g of four grades of material was purchased for ¥ 2,40,000. The
out and recorded the following :

4 000 un!ts Grade 3 10,000 units
8,000 units Grade 4 12,000 units

'ghe tt;tal sales of grade 1 amounted to % 32,000 (the rate of profit being
3 1/3 % of cost) and those of grade 2 at a unit price of 1.5 times that of grade 1 (the rate

of profit was 33 1/3% of sales). Similarly, the grade 3 material was sold for  1,00,000
yielding a profit of 20% on sales.

Calculate the purchase price of each grade on the basis of the above information.

After i}'lviting tenders, two quotations are received as follows
Supplier A =X 2.20 per unit

Supplier B =¥ 2.10 per unit plus ¥ 2,000 fixed charges irrespective of units ordered.
Calculate the order quantity for which the total purchase price will be the same. Considering

all factors regarding production requirements and availability of finance, the purchase officer
wants to place an order for 15,000 units, which supplier should he select ?

A manufacturer of Surat purchased the Chemicals A, B and C from Mumbai. The Invoice
gave the following :

v
Chemical A : 3,000 kg. @ T 4.20 per kg. 12,600
Chemical B : 5,000 kg. @ I 3.80 per kg. 19,000
Chemical C : 2,000 kg. @ T 4.75 per kq. 9,500
VAT (Credit document not received) 2.055
Railway Freight 1,000
Total Cost 44 155

A shortage of 200 kg. in Chemical A, of 280 kg. in Chemical B and of 100 kg. in Chemical
C was noticed due to breakages. At Surat, the manufacturer paid Octroi Duty @ ¥ 0.10
per kg. He also paid Cartage X 22 for Chemical A, ¥ 63.12 for Chemical B and T 31.80 for

Chemical C. Calculate the rate of material cost per kg. that you would suggest for pricing
issue chemicals assuming a provision of 5% towards further deterioration as storage

loss.

At what price per unit would Part No. A32 be entered in stores ledger, if the following
invoice was received from a supplier :

Invoice | z

200 units of Part No. A32 @ T 5 per unil 1333
Less: 20% Discount 200
Add: excise duly @ 15% g] gg
' 50

Add: Packing charges —=

Notes: |
' | | 30 days.
ount will be given for payment in B
;‘ f)n;ucﬁﬁznts substantiating payment of excise duty is enclosed for claiming MODVAT

CREDIT.
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m and 'Y’ costing ¥ 60 per kilogram are mixgq

| X' costi kilogra | in processing work
terials ‘X' costing ¥ 100 per Kllogr f materials in p | S oyt
o Ea:q::;? srupnrtinns for making product ‘A’. The 0se © ted at 50% of direct mateyig,

- e alloca )
to 25% of the output. The production expenses ;',; 1/3% over the total cost. Materig] 'y:

cost the end product is priced with 2 margin of | 'Z' has been found for 'Y’ costing ¥ 59

is not easily available and subs;ittlhlge Eﬁ:: ;;ﬁitrfél?:t 2 N he end product at existing level
' ' ired to maintain
per kilogram. It is desired

and ensure the same quantum of p_rufit as al presegh terials X and Z 7
To compute what should be the ratio of mix of the r

' the option to procure r a7
Mgurﬂfgﬂruam“;;ﬁi that t?se defectives will not exceed 2% of the supplied q y

Source Il does not give any assurance, but on the Easm of past experience, it js
observed that the defective percentage IS 2.8%. | |.

The material is supplied in lots of 1,000 units by both sources. Sc;urfcei ti:.s :urﬁgtleersia:hfnl-?t

at a price which is lower by ¥ 100 as compared to source |. Thfe e et its

can be rectified at cost of ¥ 5 per unit. Which of the two sources IS more economica

y A timber merchant purchased 1,000 c,ft. of timber logs on 1% ﬁpril, 2013@_ X 100 per c.ft.
and stored them in his timber yard for six months for seasoning. In the timber yard the

following items of expenses were incurred during the period of seasoning .
(i) RentI 1,250 p.m.

(i) Salaries of 4 Guards @ T 250 p.m. per guard

(i) Incidental Expenditure for Maintenance, Power, Lighting, etc. ¥ 750 p.m.
(iv) Annual Administration Overhead < 10,000.

50% of the floor area of the godown and other connected operations were incurred for
stocking the seasoned timber. Normal loss due to seasoning should be taken at 10%.

COST ACCOUNTING

aw raterial from following two Sources .

Calculate the selling price of the seasoned timber per c.ft. on ™ October, 2013 assuming
that the profit margin on cost was 15%.

y/ aA supplier quotes for Material A as follows:

Lot price 1to 100 units X 10 each.
Lot price 101 to 500 units T 9 each.
Lot price 501 to 1,000 units ¥ 8 each.

Trade discount 20%. Cash discount 2.5% in seven
each, T 14 credited on return. 1 container required f
decides to buy 600 units. Transport charges amoun
charged by the supplier. Calculate purchase price per

days. Containers charged at ¥ 20
or every 100 units. The purchaser

ting to ¥ 20 and storage % 4 were
unit of Material A.

}’-/ XYZ Ltd. has capacity to produce 5000 tons of a |
Product in a year.
through two departments P and Q. The sales forecast for the n ot o D aiCE passes

production capacity in the following customer mix ext year is full utilization of

Mr. X : 3000 tons at ¥ 1,80.000 per ton
Mr. Y : 2000 tons at % 2,00 000 per ton

The company has option fob |
e, P uy raw material

(@) Supplier L is prepared to
(b) Supplier M offers to supp
(C) Supplier N offers to sSup

from any one or more of the following three

supply 3800 tons of materia| @ ¥ 65,000 per ton
ly 4000 tons of material @ ¥ 60,000 per ton

and agrees to gijy - 5%
, ansport cost : > (0 give a discount of
'S purchased from him. Subject to the condition that the entire input
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COST ACCOUNTING _\ 37 77T
P

Average scrap in .
T,FI.——P producti
output. The scrap of Dep:gm[.;epa”mﬂnt P is 5% and in Department Q 10% of the final

% 25,000 p&ion. nt P realises ¥ 20,000 per ton and that of Department Q

Budgeted c ’
g osts for the two departments for the next year are.

6.3

CA R. K. MEHTA |

Departments _
Direct Labour P | Q
Overheads Z20,00,000 | ¥50.00,000
260,00,000 | Z1.50.00.000

Calculate : (a) The gr .
the source o ) gross quantity of material input to be purchased; (b) the selection of

f pro
the next year Eﬁﬁiﬁgment and ”Efl per ton cost of procurement, and (c) the total profit for
Ing that the distribution cost is 10% of cost of production.

9,16.’- The fnllufving figures are taken from the records of a Co. for the year 2013.

Opening Stock Purchase '

_ S

Material X % 1,400 2 23,000 Clu:mg S;%Ek
Material Y X 2,000 T 3,600 ¢ 2,400

C . '
alculate the material turnover ratio of the above two materials and express in number of

ﬂ?g;ntge average inventory is held. Also determine which of the two materials is fast

. From the following figures, calculate the Economic Order Quantity -

Annual consumption of material - 1,20,000 units

Cost of placing one order - T 80

Cost per unit - T 1.50.

Cost of storage & carrying - 20% per annum of purchase price.

,/

I'.}ﬂ/ From the following particulars, calculate the Economic Order Quantity :
Annual requirement 1,600 units
Cost of materials per unit ¥ 40
Cost of placing and receiving one order X 50
Inventory carrying cost. 10% p.a. of purchase price.

93( From the following information calculate Economic Order Quantity.

(i) Quarterly consumption of materials 2,000 kg.

(i) Cost of placing one order Z 50

(iii) Cost per unit | ?;4[}

(iv) Storage and carrying Cost 8% per annum

\?’ﬁ Following information relating 10 type of raw material is available:
Annual requirement 2 400 units
Unit price X 2.4
Ordering cost per orderX 4
Storage cost 2%, per annum

m .
gtTrE?attr:Ec:JaEunﬁErgpdneL:' Quantity and total amount of inventory cost in respect of the
aic

particular raw material.

having monthly demand of 2000 units. For one unil

roduct ‘
3’”'/ A cumr ant}: "f;ﬂ?ﬁgfms ' fa pﬂl’ticular raw material is needed. The purchase price
of the finishe :

of the material is
10% per annum.

(i) Economic Oraer Q!J
(i) Ordering and holding cost

2 kgs ©
7 20 per Kg.
Calculate
antity (EOQ)

The ordering cost IS T 120 per order and holding cost is




' cos T ACCOUNTING
ecld
Q6. JP Limitea manufacturer Of amfg
bt Quantity) for one of It comp 00
onents 110‘!-'4': of Purchase Price

Q.18.

Purchase Price Per ComP

Cost of an order _ Unit in .
Annual Cost of Carrying gﬁmagﬂ & carrying

Total Cost of ordering an 4 giscount of 2% on

The company has been foefefs gt a time.
the lot size is 2.000 componen

o e e the EOC qt offer can be accepted. (Assume that
u

b) Advise whether the quantily according ‘dﬂ g;cdiscuunt of a single order 7

. .- { vary
inventory carrying cost does net ny is offeré

= ittar if the company |

c) Would your advise diffe R~ Jemand of 52 000 units, The,
> at Z 15 per kg. For every finisheg

d .
rc?::EOrdering cost is T 350 per order apg

Inventory 4,000
the price of the component DTUVH%

ch ha
PQR Limited produces a produc! lfhﬂshpu
product requires a component X whiC Ly
product, 2 kgs. of Component X are requi=s=

the Carrying cost is 12% p.a.
mponent X.

ost the Company has to incur ?
kgs., what is the extra cost, the

Required: e o
(i) Calculate the economic order quantity Tor

= . " b . ng C
(i) What is the minimum ordering and carry(
(iii) If the minimum lot size to be supplied 1S 52.000

company has to incur?
and the usage is fairly constant at 6,250 valves

per month, the valves cost X 1.50 per unit and the carrying cost is estimated to be 20% of

inventory investment on the annual basis. The cost to place an order and process the
delivery is T 18. It takes 45 days to receive delivery from the date of an order and a safely

stock of 3,200 valves is desired.

You are required to determine :
) the most economical order quantity and frequency of orders;

i) the Re-order level.

A Company uses 75,000 valves per year

.19,~"A company manufactures a product for which the raw material is purchased at X 60 per

a//

- kg. The company incurs handling cost of ¥ 360 plus freight of ¥ 390 per order. The

Q.20.

carrying cost of inventory of raw material is ¥ 0.50 per k it
. . _ : g. per month. In cost
of working capital finance on investment in inventory of rzw material isﬁI idgmpr;r“i:: per

annum. The annual production is 1 - . \
of cow rraterial, P 00,000 units and 2.5 units are obtained from one kg.

Required :

(i) Calculate EOQ of raw material.

(i) How frequently the orders should b

‘ e pla

(ii) If the company is proposed to plaf:e E;‘dders on

discount in the price of raw materia| should be nego Quarterly basis, what percentage of

tiated.
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Q.21. EXE Limited has recely
Price per tonne
1,200
1.180
1.160
1.140
1.120

The annual requirem

T 1.000 and the stn:kTLI:i?r t
required to compute the mg
What will be your answer
the price pertonneis 2 1,500 7

——
—

he material
Ng cost is esti
st economical

o lhe aboy

CAR. K. MEHTA |

e R i

€d an offer o
of quantity discounts on its order of materials as under

Ordering Qty.
Less than 500

500 and less than 1,000
1.000 and less than 2,000
2,000 and less than 3,000
J3.000 and above.

s 5,000 tonnes. The ordering cost per order is
mated at 20% of material cost per annum. You are
Purchase level.

e question if there are no discounts offered and

?;z..-—" Assume that the followi ity i
to a result store - N8 quantity discount schedule for a particular bearing is available

Order Size (Units)
Below 50

90 or more, Below 100
100 or more, Below 200

200 or more

Discount
0%
h%
10%
12%

The cost of a single bearing with no discount is ¥ 30. The annual demand is 250 units.
Ordering cost is X 20 per order and annual inventory carrying cost is 10% of purchase

price.

Determine the optimal order quantity and the associated minimal total cost of inventory

and purchasing costs.

5)% he quarterly production of a company's product is 20,000 units. Each unit of product
requires 0.5 kg. of raw material. The cost of placing one order is ¥ 100 and inventory

carrying cost of one kg. is ¥ 2 per annum. The lead time for procurement of order is 36
days and safety stock of 1,000 kgs. of raw material is maintained by the company. the
company has been able to negotiate following discount structure with the raw material

supplier :
Order Quantity (kgs.)
Upto 6,000
6,000 - 8,000
8,000 - 16,000
16,000 - 30,000
30,000 - 45,000

You are required to :

(i) Calculate the re-order

(i) Prepare @ statement sh
consi
a year.

¢ of orders which
(i) State the numbe <ideration.

after taking EOQ into cOn

level taking 30 day
owing total cost 0

dering the discount if the company €

the company should place to minimize the cost

Total Discount ()
NIL
400
2,000
3.200
4,000

s in a month. |
f ordering and storage of raw material after
lects to place one, two, four or six orders in

used as follows .
: /344 Two components A and B aré . 0 units per week each.

Normal Usage
Minimum Usage
Maximum Usage
Re-order Quantity
A : 300 units
e-order Period :
A - 4to6weeks

e onenls
Calculate for each cOMP  Level:

(2) Maximu

25 units per week each.
75 units per week each.

500 units

3 to 4 weeks

and (3) Average Stock Level.

(1) minimum Level,

e
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— als A Re-Order Mj
terials eeks) Nimy,
Q.25. A company uses three raw e pelivery period (1" ::lax Level Levg; ;:Hi
following data apply - price per Mini. Avig-
Usage per ~ Re-Order 3 8,000
Raw Unit Quantity Kg. 2 4750
material Kgs. Kgs- 0.10 1 . 5
10 10,000 g , 2000
A 5,000 3.30 3 e said
' | e sai
E ; A o 5 2nits averaging 200 units of t Product
225 unit=:
i jes from 175 17 _order Level of C?
Weekly production varies fr iies ek of B » 3, Re-orde

What would be the followind quaz. Maximum

1. Minkmum Stock o A up of items. Classify these materials itemg
0
\-}Zﬂ’./T he following information is known about @ gr o
nA Bene CEtEQﬂ“Ei | consumption (pieces) Unit price (1 .
nnud
Cn;‘;fﬂ 00 o
202 350 1
203 300 20
204 275 3
205 200 40
206 550 3
207 250 )
208 400 1
209 900 10
210 400 2

Q.27. A chemical manufacturing unit uses ‘ingredient A ag basic raw material. The cost of raw
material is ¥ 20 per kg. and input-output ratio ‘s 120%. Due to a sudden shortage in the
market, the malerial becomes non-availablé and the manufacturing unit is considering
the use of any of the following substitute#*available :

Material I- O Ratio Purchase price perkg.
B, 135% X 26

You are required to recommend which of the g

g " bove ' :
indicate additional cost required to be incurred. Substitutes is 1o be used. Al

Q.28. The experience of the firm being out of

_ stock is ' .
1. Demand (Units) during lead time S marised below :

E00 No. of times (%)
400 1% |

250 2%

100 3%

50 4%

0 10%

2. The stock out cost is 2 80 per unit 0%

3. Carrying cost of inventury 5% 17 PEr unit
unit,

D . ‘
etermine the optimum |gyg| of Inventory during |
g lead time.




Q.29.

Q.30.

Q.31.

CAR. K. MEHTA

EOQ model, the cumpan:‘ Hur:;m demand (360 working days) to be 36,000 units. Using
days. The annual carrying Enster? 3,600 units at a time. The lead time for the order 1s 6
T 900 per unit. Of one unit is T 450, The stock-out cost is estimated to be

The company has ang| |
indicate the following Pai?;'?x the demand during 200 past re-order periods. The records

"
DE";"':;:’dﬂizl:ng Number of times the quantity
was demanded

540 6

o60 12

580 16

600 130

620 20

640 10

660 6

200

Required :
(1) Determine the level of re-order under existing situation.

(2) Determine the level of safety stock thal the company should maintain in order to

minimise expected stock-out cost and carrying cost (consider safety stock level of 0,
20, 40 and 60 units)

Following information is provided to you -
Annual requirement = 54,000 units.
Purchase Price =¥ 360 per unit.

1.

2

3. Total 360 days in a year.

4. Cost of one order =< 9,000.
5
6

Inventory carrying cost per unit per annum = < 300 |
Lead time is generally 6 days but it can be upto 10 days in the following manner -

Delivery days ; 6 7 8 9 10
o, of occurrence . 75 10 5 5 5

Required :
' how frequently the orders to be placgd.
E:E} E?h(i ?i?r?'l IS willln[él to assume 15% risk of being out of stock, what would be the re-

order point and safety stock. .
(iii) If the firm 1S willing to assume 5%

i safety stock. _ .
; ﬁrder En{;ﬂi ?‘EE is 5=:E what would be ordering cost and carrying cost.
(v) T $10 rdering cost becomes T 600 and inventory carrying cost becomes
(v) Suppose, the O  ompute EOQ and how frequently the orders should be

¥ 720 per unit per yea

risk of being out of stock, what would be the re-

placed.
A & Co. has projected the following for a gaofggtui.ils
Annual requirement 1 640 units
Economic Order EIUE““WK 200 units
Expected usage per Wee 2 weeks

Re-order period
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. e 88— k pe
s — ee
| COSTACCOUNTING ————___ poverd™® W o0 460 5:’2 50‘52
| . e 0 . :
i tion of usad 310 .
The pmb?mhw e 150 250 10 o 5.20 per unit per annum
Usage [qnlts} 05 05 ng cost Of Z 5. ‘
Probability unit nd carry!
2 4 pef t f information ;
The stock out cost IS _order po'n ymmary o alion
Ca?nulale Safety Stock and Re-0 The following ° S
¢ octane Pel
Q.32. Oil India 1s a bulk distributor © 7
available of June, 2008 . g,45,000
25,000
Sales S.UU-UUD
Selling Overheads | er litre
Dpenig Stock - 1,00,000 litrés @3 3P

Purchases itre
June 1 2,00,000 litres @3 2.85 pef

itre
June 30 1.00,000 litres @3 3.03Dpﬁtfrés_
Closing Stock on June 30 - 1,30,00

irst-in and
Compute the following data by first-in an
oul method of inventory custlnga.ﬂ
a) Value of inventory on June 3U. .
b) Amount of the cost of goods sold for June.

¢) Profit or Loss for June.

first-out weighted average and last in and firs
irst-out,

First out method of pricing of issue of materials :

Q.33. Prepare Stores Ledger as per Firstin Units Rate
. T5
April 1,1998  Opening Balance 1,000 6
April 3, 1998 Received 5,000
April 4, 1998 Issued 3,000
April 6, 1998 Issued 2,000
April 8, 1998 Received 3,000 <5
April 9, 1998 Issued 2,000
The weekly physical stock taking on April 7, 1998 showed a shortage of 100 units.
SOLUTION
Stores Ledger Account (FIFO)
Date Receipts Issues Balance
April Qty. Rate Amt, Qty. Rate Amt. Qty. Rate Amt.
1998 | Units 3 3 Units 3 < | Units T 4
1 i ) - = - —
3| 5,000 6 30,000 . - - 11";22 : i'ggg
. 5,000 |
4 : ) ) —3.000 6 30,000
1,
2 00 5 5000 3000 6 18,000
" 0
J C : 132 2 12000 1000 § 6,000
(Shortage) 500 900 6 5,400
8 | 3000 5 15,000 _
o " 900 6 5400
—2,000 3.000 5 15,000
= e 1,100 5.400 1,900 5 9.500
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January, 1998 . e figures about th -
January 1 1.998 € receipt and issue of materials in Z Ltd., during
January 18 '+ Teceived 500 unj
Januar:v 13- Egﬁ received 350 E::::%:ZUD cach
January 24 1993' 'SSued 600 units 10 each
‘ . received ,
iy 315 e e @ tazose
- 8, receiv
J ‘ ed 500 unit
anuary 29, 1998  issued munit:@?z.an each
Prepa '
pare Stores Ledger Accounts using LIFO method
SOLUTION. |
Date Receips Stores Ledger Account (LIFO)
Jan. Qty. Rat Issues Bal
1998 Units 2 A'{-“‘ l?ﬂ Rate ~ Amt. | Qly. I:;:ce Amt.
its ¥ :
113 ggg - s % |
2.10 735 500 200 41000
. - _ 350 210
- 600 795
[ ggg 3.10 735| 250 2.00 500
.00 500
24 600 2.
20 1,320 250 2.00 500
o5 ] ) 600 2.20 1,320
- 450 2.20 990 | 250 2.00 500
150 2.20 330
26 500 2.30 1.150 - - - 250 2.00 500
—50 2.20 330
_ | 500 230 1,150
29 3 i | 510500 230 1150 | [250 2.00 500
—10 2.20 22 140 2.20 308

““\ At the beginning of Oc
valued at T 10 each.

#7

Further purch

Issues {0 S
16" October 16,0

You are
(a)

tober 1998, Qual

ases were made during the month a

1th October 4,000 brushes @

14™ Oclobe

24™ October 8,000 brushes @

hop floor were as follows
00 brushes

¥12.50

r 6,000 brushes @ 15.00

¥16.50

28" October 10,000 brushes.

required :

to prepare @
materials were

yalue O

(b) to state the

the weigd

hted avera

Stores Ledger C
issued O the

f closing

ard for the month of October on the assumption that
first in first out principle; and
stock at the end of October if issues are priced by

ge method.

s follows :

ity Brush Company had in stock 10,000 brushes

W
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t _—— pBalance —
SOLUTION. (a) FIFO stores Ledger Accoll™—  _——Rate  AmE
Date Receipts ——— ~ Ra | uni®==—733.00 .00,
Qt Ratep_ Amt. Qty g - ——[_10000 500 1.00,000
1998 Un;'rt's ? ¢ | units _——~— ” I: 10,000 1550 50,000
Oct.1 - - ‘ - . = 4-“33 1000  1.00,000
Ocl.7 4000 1250 50,000 B 10'000 12.50 50,000
- 4,0 15.00 90,000
Oct14 6,000 1500 90.000 5.000
Oct 16 i (16,000) 10.00 1.00,000
ct. -~ - oo 10 0
[E;Um 250 2090|000 1500 - 60000
> 000 16.00 4000 15.00 60.000
. - “|| ggoo 1650 1.32000
Oct24 8000 1650 1,32.000 -
000
Ocl.28 -- - (10 L]; 15.00 60,000 000 16.50 33,000
soo0 1650 99001 2
6‘ .
- hod.
b) Weighted Average Met
{ stores Ledger Account Balance
- Issues Rate Amt,
2 R;:::pts Amt. | Qty.  Rae A I.?I:ij;:s z X
1998 Lln'ty;‘s 3 L4 Units — 10000 10.00 1,00,000
- - N | 1,50,000
Oct. 1 - - . | 14000 10.71 50,
Oct. 7 4,000 1250 ggggg ~ ~ | 20000 12.00 22{;{3[{;3
Oct14. €000 1808 1 16000 1200 192000 | 4,000 1200 1,80,000
Oct. 15 680 132,000 " - —| 12000 15.00 1,80,
Oct.28 8000 1658 LSS 40000 1500 150,000 | 2,000 15.00  30.000

*Closing stock 2000 units @ 15 = < 30,000.

Q.36. The following were the receipts and issues of material ‘Zed’ during March, 1998.
Opening balance 1100 units X 60 per unit:

March 1
March 3
March 4
March 8
March 13
March 14
March 16
March 20
March 24
March 25
March 26
March 28
March 31

Issues 140 units
Issue 250 units -
|ssue 210 units

Received from vendor 400 units at ¥ 59 per unit.
Refund of surplus from a work order 30 units at Z 58 per unit.

Issue 390 units

Received from vendor 480 units at 7 g2

Issue 608 units

Received from vendor 640 units at ¥

Issue 924 units
Refund of surplus from 3 wor
Received from vendor

PEer unit
60 per unit

K order 24 yn;i

_ ts (lssued rd
150 units at 7 64 PEr unit on 3™ March 1998)

From the above, write the Stores Ledger Account on ‘Simple A
verage Basis'.
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Stores L
Date REEEi[_]‘I:E -edger Account (Simple Average Method)
March Qty. —t— ~__Issues - B
1998 Lln:;s RE:E s . Rate Amt. | aQty. E:;:ce Amt.
1 — o X | Units X Y Unil:.v. T T
3 - = B I, = | 1100 B0 66,000
4 — __ - - 60 8,400 | 960 60 57.600
8 - _ - _ 60 15,000 | 710 60 42,600
::3 400 59 23.600 210 60 12,600 | 500 60 30,000
4 ' - — _—
R = - =2
20 480 62 5 - 350 59 20,650 | 580 - 34:{59[1
24 - 9,760 - - ~| 1060 - 64,450
25 640 80 ~ 608 69.75 36328 | 452 - 28,122
26. 35400 - = - | 1,002 - 66,522
” = -- 524 ‘ '
28 24 60 1.440 61 31,964 568 - 34,558
31 150 ' - - —| 592 - 35,098
. G4 9,600
| : - 7472 - 45,598
Working Note :
Calculation of issue prices :
March16 = 00+ 539 +8 - 7509
March24 = 20 +29+ 08+62 _259.75
62+
March 26 = 2260 -361

},a/ A company is considering
now makes. The supplier wil provide the components in the necessary

Q.38.

the possibility of purchasing from a supplier a component it
quantities at a
unit price of T 9. Transportation and and slorage costs would be negligible.

The company produces he component from a single raw material in economic lots of
2 000 units at a cost of ¥ 2 per unit. Average annual demand is 20,000 urts. The annual

holding cost is T 0.25 per unit and the minimum stock level is set at 400 units. Direct
labour costs for the component are Z 6 per unit, fixed overhead is charged at a rate of T3
per unit based on a normal activity of 20.000 units. The Company also hires the machine

on which the components are produced at a rate of € 200 per month.
Should the company make the component ?

he following distribution for lead time and daily demand

A scrutiny of past records gives t

- time. -
during lead Lead Time Distribution

Lead Time 3 4 5 6 7 8 9 10
(Days) > 3 | 4 | 4 2 2 | 2 1
Frequency Demand Distribution

— T
Demand / Day 0 1 2 3 4 5 6 7
(Units) . —T 7 | 4 3 3 4 5 r >
Frequenc

Determinge :

(i) the buffer stock; and

(i) the reorder level.
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6.12 4 50,000 bushings a year, |

COST ACCOUNTING ‘

- efence jer. It costs ¥

£ the pepartmen! ot & its from 2 sqppher hich is o o

@39, A Company has a contract from [he £ 40.000 U0 of the unit cost which 1S X 1.50,
for the bushings " is 20 | and what the vanatign,

is ot
orders the metals ng :,-,1'130";!'?-'.#5‘ﬂ,'E s from optima

stimated carryl :
place an order and the € their order quantity

wants to know what per cent
ear 2012 -13:

is costing them, if any ? /E,”,,'jm@-y”
nentdunn
olated to 8 €97 : ions (Units) Balance {U'E;T

}4{ The followin transactions are ree=——-1 ptions
I:I.mw;21 Pun:haw W 200 :
01:04:2012 200 ______f,,j%#f 15%3 o
18:04:2012 - - > iy
10:01:2013 _-:_____-—-——‘_—-——-"""-'_._- h?? iy
16:03:2013 200 _+— 250 T
31:03:2013 ~ 4t —a00 -

Total Consumption o —

Calculate Material turnover ratio.
ars were collected

D'. The following particul

Q.41. PQR Ltd. Manufactures 3 special product. '‘ZE

for the year 2011-12: .

(i) Monthly demand of Zed f ;*55%% units

(ii) Cost of placing an order : - 1 8 weeks

(i) Re-order period

(iv) Cost per unit : 4 ?D

(v) Carrying cost % p.a. : 10% |

(vi) Normal usage 1 500 un!ts per week
; 250 units per week

(vii) Minimum usage
(viiii) Maximum usage

Required:

(i) Re-order quantity

(i) Re-order level

(iii) Minimum stock level
(iv) Maximum stock level
(v) Average stock level

Q.42. ﬁf?smgfnnj srpplies plasti_cchn:kery to fast food restaurants in a metropolitan city. One
ucts is a specia |.di _ I
il any pe wl disposable after initial use, for serving soups to its

750 units per week

The demand for plastic bowl has been for '
ecasted at a fairly steady r
E;Ttiriﬁ ;e;rr.ezra;at;;?; ggqrmiur_{lz_:zs:z thf-:- bowl direct from %anufagtu?;? :tf ?4?43 {:)ﬂef E:I;i
| : rderin '
Cost is 10% per annum of purchase price.g oe related cost s T 8 per order. The e
Required :
1. Calculate Economic Orde '
r Quantity.
Calculate number of orders needett):; every year

2.
3. Calculate the total cost of '
| rderin
4. Delermine whe X K Storage for t
dots ot Ik tgi :-?I;ngjf ;ges?:;t( urd;r to be Placzs yﬁfsr:sumin th
and th : g that the Company

with a yea i at | '
year of 360 working days) he present Inventory level is 333 packs
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043 A Company manufactures 5,009

per month, The cost of placing an

I8 ¥ 10 per kg. the re-order period IS
r - :
the average consumption being 27 SW Materials vari

() Re-order quantity S kg. the carrying
(ii) Re-order level
(iii) Maximum level
(iv) Minimum level

(v) Average stock level.

re-or » dally working hours in the f | re required to
. calculate the re-order level of material ‘x'. M e Bt e b )

aximum stock level is 8,000 kgs.

e o e
"-'-_""." — - — = -
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COST ACCOUNTING

P

e STIONS

——

Q.1.

Ans.

IMPORTANT THE

What is inventory control ? Mention its obj

proper control ?

Inventory comprises stock of
components. The

management of invenlory.

Investment n inven
Adequate and proper con

accounting system.

Objectives of In

ventory Co

1 Effective use of financ

investment in inventory a
2. Avoidance of the

aim of inveniory con

normally @ s a
o trol of inventory, therefore.

“out of stock’ danger, €.

ORETICAL QUES

ious methods of inventory fo,

ectives and var

finished goods, stores gpgq

» ress, , :
prog aximum efficiency in the

raw matera eve mM

trol |
ant part of the total assets.

n |mpurtaﬂt feature Elf Eust

to business, €. to maintain the
tent with operating requirements,
de a supply of required materia|s

ntrol :
igl resource
t the lowest

s available
level consis
to provide
ted operations.

_ - interru
without any delay for efficient and unint pntily puying and faveurable raw materig|

3. Economy in purchasing as effected by qud

market. stocks of finished products to meet

: - intaini fficient
4. Service to customers I.€. maintaining Su _  orders.
reasonable expectations of customers for pf ompt dEl";";"Y géh?ﬂg Serpetual invento
5. Accurate and regular material reports {0 management Dy Keep ry

and other up-to-date records. |
The various techniques used for inventory control are as follows .
ABC of analysis.

Level setting.

Economic purchase quantity.

Proper purchase procedure.

Proper storage.

Perpetual inventory system.

Establishment of a system of budgets.

Review of slow and non-moving items.

Use of ratios, e.g. inventory turnover.

Q.2.  What do you understand by ABC Analysis ? What are its advantages ?
Ans. The ABC method is an analytical method of stock control which aims at concentrating efforts

ﬁnmtgnse fitimst wherg _attentinn Is needed most. It is based on the premise that a small
mL; ten?arlsnu ;eﬁi items dm inventory may tlypically represent the bulk money value of the total
In production process, while a relatively large number of items may represent a

small portion of the money value of stor
: es used a -
subject to the greatest degree of continuous cuntrni.nd hat small number of items should be

Under this system, the materials

| em, stocked may be ified |
‘?-ﬁcurfmng to their importance, i.e. their value anrl fn-:.-c;l.:jnaif‘r?t’:&mEmEl oo of Eaegonics
e first category, we may call it the group of ‘A’ Ay
percentage of total items handled but its combined val

st |
ock value. The second category, naming it as gruuue ol R 1arge portion of the tota

P of 'B' items, may b ‘
Included which are quite |ar ' the remaining | s of stock may be
g€ In number but thej o] Siaining items of s
;rhe advantages of ABC analysis are - ik ot high e
5 Closer and strict control on those ité
. Investment in inventory can be ajor |
Portion of total stock value.

utilised in the best possible

manner, regulated ang funds can be

3. Savings In stock carrying costs
5. qups In maintaining enough seifet
. Scientific and selective co
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Q.3.

ANS.

Q4.

Ans..

What 1s meant by ‘maximum ievef

stocks ? What are the fact
. ors that gove :

The following factors help in the fixgatinn”; ftrt\: fixing of levels ?
Rate qf consumption of materials 66 levels;

Lead time, i.e. time lag. ‘

Storage capacity.

Availability of funds for | _
Cost of storage. Investment in inventories.

EE::D?\L 1lnf55 ::iue to deterioration, theft, fire, etc
actors - | Jls are cheapl
S - certain materials are cheaply available during certain seasons.

and -
d ‘ordering level with regard to maintenance of

N o RN

TYPES OF STOCK LEVELS :

1.

Maximum Level : The maxim .
+ ’ um lev - -
of any item should not generally be a'-le::ln:ic;hf; :; aniyiof ety efgve Wi G Sloss

The formula for computing maximum level is as follows :

Maximum Level = Re-ord
* er le - - ini i
Minimum Re-order period) vel + Re-order quantity - (Minimum consumption X

Minimum Level : The minimum | |
' evel o
normally be allowed to fall. s that level of stock below which it should not

Minimum Level is compound as under

Minimum Level = Re-order level - (Normal consumption x Normal Re-order Period).

Ur::er_'n:g _Level or Re-order Level : This is that level of materials at which a new order for
r;z ;;3 L?II is to be placed. In other words, this is the level at which a purchase requisition 1S

The formula is as follows :

Re-order level = (Maximum consumption x Maximum Re-order period).
Average Stock Level : This is computed with the help of the following formula
Average Stock level = Minimum Level + 1/2 of Re-order quantity.

or
Average Stock level = (Minimum Level + Maximum Level)/2

Danger Level : It is the level below which stock should not be allowed to fall except under
emergency conditions. When stock reaches this level, urgent action for purchase is initiated.

What procedure should you follow to direct, locate and prevent slow and non-moving

materials ? .
Material is an important constituent of total cost and as such a proper system of material

control leads to a significant economy n the total cost of production. Proper system, therefore,
should be enforced to detect and control slow-moving materials, obsolete materials and
dormant stocks. Slow-moving materials refer 0 those items which are moving at a slow rate.
Dormant materials are those items which are not moving temporarily, may be be;ause of
seasonable production. Obsolete materials, on the other hand. are those items which have
become useless due to change in design, method of manufacture, product or process, etc. In
order to direct slow and non-moving items, the following steps may be taken :

] tocks should be prepared for
: . Monthly or quar-erly reports on such S _
;Zzgg::h;ef; lFtthisr manag}émenl. These reports should show E:urchase, consumption and
stock of these slow and non-moving items in quantities as well as in values. |
T Ratios : In order 10 isolate slow moving. dormant and dead stock, turnover ralios
ml;;nub‘;ercalzulﬂtﬁa periudi‘:a“"f- These ratios will show the turnover of these items for
: ment. .
g:se?tihn;: t; tshg nhfaf:sgif he slow and non-moving items mMay become useless with the
solete /tems . | designed information system should be devised to locate these
passage of time. A W€ s stopped and existing items lying in

items |
' further purchase of these | | |
fhb:zl’titri lila.er:-:-nz;zktlr;a;heitiﬁed.pObsﬂlElE stock may be used in sOMe profitable product items

or are disposed of. it thus have become useless.




